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The following table shows the income and expenditure (in ¥ millions) of a certain Company during
the five years from 2018 - 2022, along with profit % and loss % incurred in all these years. Some
values are missing in the table (indicated by ') that you are expected to calculate if required.
Based on the data in the table, answer the questions that follow.

Year-wise Income, Expenditure and Profit/Loss of a Company

Year |Expenditure (in3 millions) | Income (in¥ millions) | Profit %(+) / Loss %()
2018 192 . +15%

2019 248 = s

2020 210 . +20%

202 - 359.6 :

2022 £ : -12%

Sub questions

Question Number : 1 Question Id : 87827021319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Profit in 2020 is % more than in 2018 :
(1) 56.76

(2) 44.98

(3) 45.83

(4) 59.82
Options :

87827084341. 1
87827084342. 2
87827084343. 3

87827084344. 4

Question Number : 2 Question Id : 87827021320 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2022, if the expenditure of company was 15% more as compared to 2019, then the income of the
company in 2022 was (in < million) :

(1) 250976

(2) 248.976

(3) 250936

(4) 230.936
Options :
87827084345. 1
87827084346. 2
87827084347. 3

87827084348. 4

Question Number : 3 Question Id : 87827021321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[£ the loss incurred by the Company in 2019 was ¥33.2 million more than the profit of the Company
in 2018, then the loss percent incurred by the Company in 2019 was :

) 17%
) 2%
) 25%
) 23%
Options :
87827084349. 1
87827084350. 2
87827084351. 3

87827084352. 4

Question Number : 4 Question Id : 87827021322 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n 2021, if the profit percent (%) of the company was higher by 60% of the profit percent (%) in
2018, then the percent increase (approximately) in the expenditure of the Company in 2021 as
compared to the previous year would be :

1) 4%
Q) H%
(3) 41%
@) 38%
Options:

87827084353. 1
87827084354. 2
87827084355. 3

87827084356. 4

Question Number : 5 Question Id : 87827021323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the average of the income of the Company in 2018 and 2020 (in < million) ?
1) 2208
) 2364
3) 2522
4)  246.6

2

— — |

Options :

87827084357. 1
87827084358. 2
87827084359. 3
87827084360. 4



Question Id : 87827021318 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 87827021319 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 56.76
(2) 44.98
(3) 45.83
(4) 59.82

Options :

87827084341. 1



87827084342. 2
87827084343. 3

87827084344. 4

Question Number : 2 Question Id : 87827021320 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827084345. 1
87827084346. 2
87827084347. 3

87827084348. 4

Question Number : 3 Question Id : 87827021321 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827084349. 1
87827084350. 2
87827084351. 3

87827084352. 4

Question Number : 4 Question Id : 87827021322 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084353. 1
87827084354. 2
87827084355. 3

87827084356. 4

Question Number : 5 Question Id : 87827021323 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 2208
(2) 2364
(3) 2522
(4) 246.6

Options :



87827084357. 1
87827084358. 2
87827084359. 3

87827084360. 4

Sub-Section Number : 2
Sub-Section Id : 878270948
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 6 Question Id : 87827021324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The organised bodies of information stored in memory that bias the way new information is
interpreted, stored, and recalled is known as

(1)  Constructive process
) Schemas
3)  Chunks
)

Association
Options :
87827084361. 1
87827084362. 2
87827084363. 3
87827084364. 4

Question Number : 6 Question Id : 87827021324 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827084361. 1
87827084362. 2

87827084363. 3
87827084364. 4

Question Number : 7 Question Id : 87827021325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the components of pedagogical analysis of teaching and learning ?
(A) Objective formulation

(B) Selection of teaching methods and materials

(C) Content analysis

(D) Selection of evaluation devices

Choose the correct answer from the options given below :
(1) (B), (€)and (D) Only

() (A) and (D) Only
(3) (A) () (C)an (D)
(4) (B)and (C) Onl
Options :

87827084365. 1
87827084366. 2

87827084367. 3



87827084368. 4

Question Number : 7 Question Id : 87827021325 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084365. 1
87827084366. 2
87827084367. 3

87827084368. 4

Question Number : 8 Question Id : 87827021326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  In teacher centred learning the teacher gives up the traditional decision making
role and chooses instead the role of a facilitator who focuses on students feelings.

Statement I In learner centred method the teacher attempts to see the world as the students
see it, creating an atmosphere of empathetic communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

878270843609. 1

87827084370. 2

87827084371. 3

87827084372. 4

Question Number : 8 Question Id : 87827021326 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084369. 1
87827084370. 2
87827084371.3

87827084372. 4

Question Number : 9 Question Id : 87827021327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Theability o generate unusual, yet appropriate, responses to problems or questions
15 known as convergent thinking,

Statement IT :  The ability to produce responses that are based primarily on knowledge and logic
is known as divergent thinking,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement IT are correct
2

2
(3) Statement I is correct but Statement I is incorrect
4

Both Statement I and Statement II are incorrect

Statement [ 15 incorrect but Statement II is correct
Options:

87827084373. 1

87827084374 2

87827084375. 3

87827084376. 4

Question Number : 9 Question Id : 87827021327 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084373. 1
87827084374. 2
87827084375. 3

87827084376. 4

Question Number : 10 Question Id : 87827021328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : No test provides a perfect picture of a student's abilities and skills.
Reason (R) : A test s only one small sample of a student's performance,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
(4) (A)is not correct but (R) is correct

Options:

87827084377 1

87827084378. 2

87827084379. 3

87827084380. 4

Question Number : 10 Question Id : 87827021328 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827084377. 1
87827084378. 2
87827084379. 3

87827084380. 4

Question Number : 11 Question Id : 87827021329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

An epistemological position that advocates the application of the methods of the natural sciences
to the study of soctal reality and beyond, refers to

(1) Positivism

2)  Interpretivism
3)  Objectivism

)

(
(
l

Constructionism
Options :
87827084381. 1
87827084382. 2
87827084383. 3

87827084384. 4

Question Number : 11 Question Id : 87827021329 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084381. 1
87827084382. 2
87827084383. 3
87827084384. 4

Question Number : 12 Question Id : 87827021330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the similarities between quantitative and qualitative research :
(A) Both are concerned with data reduction.

(B) Both are concerned with variation in data.

(C) Both lay emphasis on contextual understanding,

(D) Both lay emphasis on generalization.

(E) Both are concerned with answering research questions.

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (A), (B), (D) and (E) Only
(3) (B) (D) and (E) Only

(4) (A), (B) and (E) Only
Options :

87827084385. 1

87827084386. 2



87827084387. 3
87827084388. 4

Question Number : 12 Question Id : 87827021330 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084385. 1
87827084386. 2
87827084387. 3

87827084388. 4

Question Number : 13 Question Id : 87827021331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the correct reasons for writing a literature review :
A) You need to know what is already known in connection with your research area.

I

(

(B) It may help you to develop an analytic framework.
(C) It will help with the interpretation of your findings.
(D) It may suggest further research questions for you.

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2) (B), (C) and (D) Only
(3) {A) () and (D) Only
(4 (4), (B) () and (D)
Options:

87827084389. 1
87827084390. 2
87827084391. 3

87827084392. 4

Question Number : 13 Question Id : 87827021331 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084389. 1

87827084390. 2

87827084391. 3
87827084392. 4

Question Number : 14 Question Id : 87827021332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sampling issues that are problematic in online surveys :
(A) Many people use more than one internet service provider.

(B) Every person has only one (unique) email address.

(C) A house hold may have one computer but several users.
(D) Internet users are a biased sample of the population.
Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2)  (B), (C) and (D) Only
(3) (A), (B)and (D) Only
(4)  (A), (C) and (D) Only
Options:

87827084393. 1
87827084394. 2
87827084395. 3

87827084396. 4

Question Number : 14 Question Id : 87827021332 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084393. 1
87827084394. 2
87827084395. 3

87827084396. 4

Question Number : 15 Question Id : 87827021333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which among the following is an open source software for data analysis ?
(1) SPSS

(2) MATLAB
3) R

(4) MINITAB
Options :
87827084397. 1
87827084398 2

87827084399. 3



87827084400. 4

Question Number : 15 Question Id : 87827021333 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084397. 1

87827084398. 2

87827084399. 3

87827084400. 4

Question Number : 16 Question Id : 87827021334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

When the primary function of communication is to convey new information, it is known as
1) Subliminal function

8 Single task function
(3) Referential function
(4) Differential function
Options :
87827084401. 1
87827084402. 2

87827084403. 3



87827084404. 4

Question Number : 16 Question Id : 87827021334 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827084401. 1
87827084402. 2
87827084403. 3

87827084404. 4

Question Number : 17 Question Id : 87827021335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

One of the four maxims of conversation, quantity maxim, reflects the right amount of :
(1) Paradigms

(2) Syntagms

(3) Similes
(4) Information
Options :
87827084405. 1
87827084406. 2

87827084407. 3



87827084408. 4

Question Number : 17 Question Id : 87827021335 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084405. 1
87827084406. 2
87827084407. 3

87827084408. 4

Question Number : 18 Question Id : 87827021336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following contextual factors determine meaning in communication behaviour ?
A)  Physical locafion

B) Participants

(
(
(C) Preceding events
(D) Nonfunctional goals
(E) Absence of audience

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (B), (C) and (D) Only
() (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270844009. 1
87827084410. 2
87827084411. 3

87827084412. 4

Question Number : 18 Question Id : 87827021336 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084409. 1
87827084410. 2
87827084411.3

87827084412. 4

Question Number : 19 Question Id : 87827021337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following belong to the field of proxemics in communication ?
(A) Facial expressions
(B) Crowding
(C) Territoriality
(D) Personal space

(E) Eye contact

Choose the correct answer from the options given below :
(1) (A), (B) and () Only

(2)  (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) (A) (D) and (E) Only
Options:

87827084413. 1
87827084414. 2
87827084415. 3

87827084416. 4

Question Number : 19 Question Id : 87827021337 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad # 9 -9 =R 4 gHe fomn & &5 9 et € 2

(A) HEH FEE

(B) fe-wre

(C) YIewiHa

(D) SAfemTd &

(E) =g Hh

i feu 1 fosedl ° 9 WEr I F T FifC:

(1) < (A), (B) 3T (C)

(2) 94 (B), (C) 3 (D)

(3) < (C), (D) SR (E)

(4) I (A), (D) 3R (E)
Options :

87827084413. 1
87827084414. 2
87827084415. 3

87827084416. 4

Question Number : 20 Question Id : 87827021338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to Buddhism, linguistic communication should be used to adopt moral
stance.

Statement (1) : Critical introspection is not preferred by Buddhists as part of intra-personal
communication.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827084417. 1

87827084418. 2

87827084419. 3

87827084420. 4

Question Number : 20 Question Id : 87827021338 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A fem E:
HL: A o o R, ST SR 1 e A 9 A i o o o frn o e

TR A 2 ST e & sl don o e & w0 o oo 7 & 9
2l

T O o i , A fou T ol ¥ 9 W S 9 @i
(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827084417. 1
87827084418. 2
87827084419. 3

87827084420. 4

Question Number : 21 Question Id : 87827021339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n an arithmetic series having 50 terms, the first and last terms are 3 and 199, respectively, What is
the sum of the series ?

(1) 4950
Q) 3050
B) 5150
@) 4850

H=

Options:

87827084421. 1
87827084422. 2
87827084423.3

87827084424. 4

Question Number : 21 Question Id : 87827021339 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

50 Vel el T e et H Jom o St 08 A 3 AT 199 € 36 Sl & AW # g
(1) 4950
(2) 5050
(3) 5150
(4) 4850



Options :

87827084421. 1
87827084422. 2
87827084423.3

87827084424. 4

Question Number : 22 Question Id : 87827021340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Find the next term (?) in the following letters series AM, GJ, MG, SD, 7, ...
(1) XZ

Options:

87827084425. 1
87827084426. 2
87827084427.3

87827084428. 4

Question Number : 22 Question Id : 87827021340 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fe S1ar Sf@el § el Ug (?) o1 vl @ |
AM, G] MG, SD, , ..oovme.

(1) XZ
(2) YC
(3) XA
(4) YA



Options :

87827084425. 1
87827084426. 2
87827084427. 3
87827084428. 4

Question Number : 23 Question Id : 87827021341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum and difference of two numbers are 19 and 7, respectively. What is the sum of their
squares ?

) 190
) 200
) 205
) 210

3

1
2
k
(4
Options:

87827084429. 1
87827084430. 2
87827084431.3

87827084432. 4

Question Number : 23 Question Id : 87827021341 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T HET AN T SR FH: 19 SR 7 § 1 37H G H AT F R ?
(1) 190
2) 200
3) 205
)

(
(
(4) 210



Options :

87827084429. 1
87827084430. 2
87827084431.3
87827084432. 4

Question Number : 24 Question Id : 87827021342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A certain sum of money doubles in 4 years at a compound rate of interest per annum. The rate of

interest is [Given ; 2/2 = 1414, 2/ = 1.1892)

1) ~149%

Q) ~168%
3) ~189%
(4

S |

) ~12.9%
Options:
87827084433. 1
87827084434. 2
87827084435. 3

87827084436. 4

Question Number : 24 Question Id : 87827021342 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T ST e TRt T e 1 AR oY G @ W ¢

(954 : 21/2 =1414, 21/4=11892)

(1) ~14.9%

(2) ~16.8%
(3) ~18.9%
(4) ~12.9%
Options:
87827084433. 1
87827084434. 2
87827084435, 3

87827084436. 4

Question Number : 25 Question Id : 87827021343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A train moving at a speed of 63 kmy/hr enters a railway station and crosses the platform in 20 s,
If the length of the train is 100 m, what is the length of the platform ?

1) B0m
2 Mm
3 B0m
4 30m

Options :

87827084437. 1
87827084438. 2
87827084439. 3
87827084440. 4

Question Number : 25 Question Id : 87827021343 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

63 F 7/ T 0 T8 O S T A W o € 4R e 6 208, 5 R
?Ihiamaaﬁaamoﬁaé,wmﬁmﬁmﬂ?
150 Fiet

Options :

87827084437. 1
87827084438. 2
87827084439. 3

87827084440. 4

Question Number : 26 Question Id : 87827021344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per square of opposition which of the following propositions are so related that if one of them
is true, the other must be false and vice-vessa ?

(A)  All mammals are vertebrates,

(B) No mammals are vertebrates.

(C) Some non mammals are not vertebrates.

(D) Some mammals are not vertebrates.

Choose the correct answer from the options given below :
o) (¢ ()Onlv

@) (4and (O)On

(3) (A)and (B) Only

(4) Q) and (D) Only

Options :

87827084441.1



87827084442. 2
87827084443. 3

87827084444. 4

Question Number : 26 Question Id : 87827021344 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fet o S 8 9§ 9 o1 50 e e € o 7 4 O 9 € 7 G e
9 T A fefe €7

(A) W we BE) 2 2

(B) S o TR e ) 2 ¢

(C) F8 - W] 74l 20 ¢

(D) 3 WA el 7 4 €

A fou o foredl ¥ 0 W@ S A T A
(1) 9 (&) 3R (D)

) ¥ (4) & (C)

() (4) o (B

() ¥ () D)

Options :

87827084441. 1
87827084442. 2
87827084443. 3
87827084444. 4

Question Number : 27 Question Id : 87827021345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are logically equivalent ?
(A) No liquids are beverages.

(B) No beverages are liquids.
(C) All non-beverages are non-liquids.
(D) All non-liquids are non-beverages.
Choose the correct answer from the options given below :
(1) (A) and (B) Only
(2) (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options:
87827084445. 1
87827084446. 2
87827084447. 3

87827084448. 4

Question Number : 27 Question Id : 87827021345 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



=1 5 9 o9 | FeF aifthe 99 979 € 2
(A) FIE it T T wered T B

(B) hrs i U UeTe TR &I B ¢

(C) Gsft R-U7 yered IR-A B B |

(D) B\eft TR-a 1R-97 uered & B

9 fau Tu fasredl § 9 WEr ST 1 =TT HIfC:
(1) =had (A) TR (B)

(2) HFA (A) 3R (Q)
(3) ad (B) ¥R (D)
(4) FEE (C) R (D)
Options :

87827084445. 1
87827084446. 2
87827084447. 3

87827084448. 4

Question Number : 28 Question Id : 87827021346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If the statement “Some rectangles are not squares” is given as true, then according to the square of
opposition which of the following statements can by immediately inferred to be false ?

(1) All rectangles are squares,

(2) Some rectangles are squares,

(3)  No rectangles are squares.
e

4)  Some squares are not rectangles.
Options :
87827084449. 1

87827084450. 2



87827084451. 3

87827084452. 4

Question Number : 28 Question Id : 87827021346 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 TR 59 9 T A0 ¢ 9 6 WA IR ¢ foe o o g e 4§ fom A 9
TR A ST fo o el )

(1) 6 o B

) T3 g E

() 4 o o 7 2 2
(4) 8 T 9 TR 2 ¢

Options :

87827084449. 1
87827084450. 2
87827084451. 3

87827084452. 4

Question Number : 29 Question Id : 87827021347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

"More laws have been added on the books in past five years than ever before, yet the number of
crimes committed during the same period has significantly increased. Therefore, to bring the crime
tate down, we must eliminate the laws”. Which fallacy is committed in the above statement ?

(1) Red herring

2) Straw man

3)  Slippery slope
4)  False cause

(
(
(



Options :

87827084453. 1
87827084454, 2
87827084455, 3

87827084456. 4

Question Number : 29 Question Id : 87827021347 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"o e o e f e o el e s e e 0 ety i e 6 S e
1 5 I 9 3 19 A A o o e o e | S

Options:

87827084453. 1
87827084454. 2
87827084455. 3

87827084456. 4

Question Number : 30 Question Id : 87827021348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : - According to classical Indianschool of logic(Nyiya) the argument “Sound s eternal
because it is audible” is fallacious.

Statement (1) : According to classical Indian school of logic the argument “Sound is eternal
because it is audible” commits the fallacy of irregular middle term where the
middle term is too wide.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2

(2) Both Statement I and Statement IT are incorrect.
(3) Statement 1 is correct but Statement I1 is incorrect
4

4)  Statement I is incorrect but Statement II is correct,

Options:

87827084457. 1
87827084458. 2
87827084459. 3

87827084460. 4

Question Number : 30 Question Id : 87827021348 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



4 ) A foU T
WO 1: ST A P o o o 3 e & i 7 e e 9 e ¢

FURI1: T IR 27 7 & R e IV & i 7% 9 ¢ 4 e 04
Y ¢ 7 99 G o4 oA

TS B % e H, el o0 T o] A 9 R SR A
(1) TR TR T

() 1R HR IS o £

) FMIT §, et Ho 11 00 21

) TR A £, o o 1L 2

Options :

87827084457. 1

87827084458. 2

87827084459. 3

87827084460. 4

Question Number : 31 Question Id : 87827021349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In comparison to secondary computer storage, primary storage is :
(1) Slower, more expensive per unit of storage and persistent
(2) Faster, less expensive per unit of storage and persistent
(3) Faster more expensive per unit of storage and not persistent
(4) Faster, less expensive per unit of storage and not persistent
Options :

87827084461. 1

87827084462. 2

87827084463. 3

87827084464. 4



Question Number : 31 Question Id : 87827021349 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

fgdiorer HogeX JYeRU &1 qor §, Wi ser

(1) e, wfg e dero sifier weien ik gad € S
(2) i, 9fd gfe sieru F9 weien SR gaqd g §|

(3) g, fd e sierw sifusw wiien IR gad =& e g1
(4) =, 9fd gfe vero w9 Gt IR gad & e ¢ |
Options :

87827084461. 1

87827084462. 2

87827084463. 3

87827084464. 4

Question Number : 32 Question Id : 87827021350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A security system records video footage. One minute of video requires 180 MegaBytes of storage.
The recording system can store several hours of video footage. How much storage would be needed
for 2 hours of video footage ? (1k =1024) :

(1) 192 Giga Bytes
(2) 203 Giga Bytes
(3) 211 Giga Bytes
(4) 224 Giga Bytes
Options:

87827084465. 1
87827084466. 2

87827084467. 3



87827084468. 4

Question Number : 32 Question Id : 87827021350 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T U T el ey () e e €1 O e ol f T st 190 e
SR it 1 e o o W2 3 o o s o T §12.98 % e 3 faw
fo e T A SR 27 (1k=1024)

1) 192 TeEe
) 203 ek
) 211 TR
) 204 TIREE

Options :

a2

(
2
g
(4

87827084465. 1
87827084466. 2
87827084467. 3

87827084468. 4

Question Number : 33 Question Id : 87827021351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
If (P)g represents the number P in base - 8, then (144)s + (175)q =

(1) (225)4
(2) (341)g
(3)  (441)
(4) (314)q
Options :

87827084469. 1



87827084470. 2
87827084471. 3

87827084472. 4

Question Number : 33 Question Id : 87827021351 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g (P)g 99 - 8 H P =l T €, dI(144)g + (175)g =

(1) (225)g
(2) (341)4
(3) (441)g
(4) (314)g
Options :

87827084469. 1
87827084470. 2
87827084471. 3
87827084472. 4

Question Number : 34 Question Id : 87827021352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : IPv6 address in computer networking is 4 times larger than an [Pv4 address

Statement (I1) : The IP address gives the location of a device on the Internet, whereas the MAC
address identifies the device connected to the Internet

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct,
2
3
(4

) Both Statement I and Statement II are incorrect.
) Statement I is correct but Statement 11 15 incorrect.
)

Statement I is incorrect but Statement II is correct,

Options:

87827084473. 1
87827084474. 2
87827084475. 3
87827084476. 4

Question Number : 34 Question Id : 87827021352 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g A ferm E:

WO (1) O Yo [Pvd T 1 T [Pt TS 4 T 991 2 ¢

®OA (1) [P UG 20 W fo 97 ) afiefs Ve 0 € 0% MAC U TR 8§ e A
Rl 4 £

TS 9 35 e A, A for T fovedt 2 W A

(1) B HR I T2

(2) TR B IS o €

() FRITA §, o w11 9 2|

(4) TR R 3, T R 1 2



Options :

87827084473. 1
87827084474. 2
87827084475. 3

87827084476. 4

Question Number : 35 Question Id : 87827021353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - IL

List - I List - II
(Graphical User Interface Term) (Description)
(A) Window () Represents a folder or a progtam - can be seen
within a window or free standing on screen
(B) Icon () Contains lists of options for a certain program
(C) Menu () Used toselect menu options/icons/ close/open
windows
(D) Pointer (IV) Represents an area on the screen that displays

information for a specific program
Choose the correct answer from the options given below :

(1) (AR, (BMD (CH{ID, DHIV)
) (BHIV), (CA

(2) (Al ) (DA
(3) (ARIV), (BHD) (CHID), (DM
(4 (AMT), (B)-{), (CHLV), (DHI)
Options:

87827084477.1
87827084478. 2
87827084479. 3

87827084480. 4



Question Number : 35 Question Id : 87827021353 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
Tl § 11 91 o aifee;

Tl Tl
(T3 TeleRT SIS ) (o)

1) fig () T 4o T 51 291 € - ffg) o e afee o
R 9 8 9 9 ¢

B & (1) 39 forh T &g e 1 et €

0 W (1) 38 T ¥, frey e el e el o 7
o foe fon s &1

D) &R (IV) B T & e ot & o o o feo
) & &

At few T foedl o 9 T I 9 A

(1) (AW, (B0, (CHID, (DHIV

(2) (AKD), (B-V), (CHI), (DA

(3) (ANIV), (B, (CHI). (DA

(4 (AKD, B}0, (O4IV), (DA

Options :

87827084477. 1
87827084478. 2
87827084479. 3

87827084480. 4

Question Number : 36 Question Id : 87827021354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are true about Producer Gas ?
A) Ttis the result of conversion of solid biomass into gaseous fuels.

(
(B) Itis done at lower temperature.

(C) It can be used as fuel in internal combustion engines.

(D) Itis produced in the complete absence of oxygen.

(E) Hydrogen and methane present in Producer Gas determine its heating value.
Choose the correct answer from the options given below :

(1) (4), (B)and (C) Only

(2)  (B)and (D) Only
(3) (C), (D)and (E) Only
(4) (), (C)and (E) Only
Options:

87827084481. 1
87827084482. 2
87827084483. 3

87827084484. 4

Question Number : 36 Question Id : 87827021354 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e T & A | Fretfeted § & PH-9 98§

(A) 7 3 99 Tefa ¢ et fom & Wi 7 ¥iowd g

(B) @ UM R ol ST €

(C) 3w WA STk Cg 3919 W 38 o %Y ¥ fohel & el € |

(D) 8 aieier o forl e foen 1l &1

(F) e g ¥ suftery/fed areion oiR o e o fruifid &% €
A fou e foredl H 9 W& I T FIC

{ (A), (B) & (C)
2

3
(

)
)
)
4)
Options:

87827084481. 1
87827084482. 2
87827084483.3

87827084484. 4

Question Number : 37 Question Id : 87827021355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The convention on biological diversity is dedicated to promote sustainable development conceived
as a practical tool for translating the principles of :

(1) Agenda 20
(2) Agenda2]
(3) Agenda 22
(4) Agenda 23

Options :

87827084485. 1



87827084486. 2
87827084487. 3

87827084488. 4

Question Number : 37 Question Id : 87827021355 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e fafaem e fe fagi ) wrfen < & fod oo / fTes e & %9 4 e
T foe 1 9 ¢  felt Wi 7

()

) g
() A 2
) B
Options :

87827084485. 1
87827084486. 2
87827084487. 3

87827084488. 4

Question Number : 38 Question Id : 87827021356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What is the correct sequence of steps followed from initial to last during water treatment process ?
(A) Coagulation

(B) Filtration

(C) Screening

(D) Sedimentation

Choose the correct answer from the options given below :

(1) 0)©) B) (4)

2) (D) (), (&) ()
3 (€. 0) ) 6)
(4) (O O) (B), (&)
Options:

87827084489. 1
87827084490. 2
87827084491. 3

87827084492. 4

Question Number : 38 Question Id : 87827021356 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T S Y o U SR T et e o e (e ) afem) o o s

(A) e

B) e

(€)

D)

A fe 0 feeredl o WY O A T @i
(1) () (©) (B) (A)

2 (D) (©) )@

3) (© ) (A) B

4 (© ) B) (A)



Options :

87827084489. 1
87827084490. 2
87827084491. 3
87827084492. 4

Question Number : 39 Question Id : 87827021357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : DDT bioaccumlates in tissues of many species including humans.
Reason (R) :  DDT is relatively insoluble in water but readily soluble in fats and ofs.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A)is not correct but (R) is correct

Options:

87827084493. 1
87827084494. 2
87827084495. 3

87827084496. 4

Question Number : 39 Question Id : 87827021357 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084493. 1

87827084494. 2

87827084495, 3

87827084496. 4

Question Number : 40 Question Id : 87827021358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements ;

Statement (1) : Millennium Development Goals (MDGs) were mainly targeted at developing or
poor countries.

Statement (I1) : Sustainable Development Gaols (SDGs) are targeted at all countries whether
developed, developing or poor.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect,
(3) Statement I is correct but Statement I1 is incorrect.
(4)  Statement I is incorrect but Statement I1 is correct.

Options :



87827084497. 1
87827084498. 2
87827084499. 3

87827084500. 4

Question Number : 40 Question Id : 87827021358 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084497. 1

87827084498. 2

87827084499. 3

87827084500. 4

Question Number : 41 Question Id : 87827021359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following was recommended by the Hunter Commission ?

(1)  Abolition of higher education in India

(2) Restricting women's entry into colleges

(3) Participation of private enterprise in higher education

(4) Encouraging establishment of more and more public universities in rural India
Options:

87827084501. 1

87827084502. 2

87827084503. 3

87827084504. 4

Question Number : 41 Question Id : 87827021359 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084501. 1

87827084502. 2

87827084503. 3
87827084504. 4

Question Number : 42 Question Id : 87827021360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The University of Punjab was established at lahore in 1882 to reduce the burden of the university
of :

) Bombay
) Calcutta
) Madras
) Himachal Pradesh

1
2
3
(4
Options:

87827084505. 1
87827084506. 2
87827084507. 3

87827084508. 4

Question Number : 42 Question Id : 87827021360 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1233

Options :

87827084505. 1
87827084506. 2
87827084507. 3
87827084508. 4

Question Number : 43 Question Id : 87827021361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following steps were taken by the university grants commission during the second
five year plan?
[ntroduction of three-year degree course
B) Improvement in libraries and laboratories

D) No new departments were approved in the universities

(

(

(C) Increase in the salaries of universiry teachers
(

E

—

Hindi was made the optional medium of instruction besides local languages in all Indian
universities
Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
(2)  (B), (C) and (D) Only
) (C), (D) and (E) Only
(4) (A), (D) and (E) Only
Options :

878270845009. 1
87827084510. 2
87827084511. 3
87827084512. 4

Question Number : 43 Question Id : 87827021361 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084509. 1

87827084510. 2

87827084511. 3

87827084512. 4

Question Number : 44 Question Id : 87827021362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following research institutes were established between the first and third five year
plans ?

(A) Indian Institute of Science

(B) Saha Institute of Nuclear physics

(C) Lok Bharati

(D) Gandhi Gram Rural Institute

(E) Raman Research Institute

Choose the correct answer from the options given below :
(1) (), (B)and (C) Only

(2) (A), (D) and (E) Only

(3) (B),(C) and {£) Only

(4) (8)(C)and (D) Ony

Options :

87827084513. 1
87827084514. 2
87827084515. 3

87827084516. 4

Question Number : 44 Question Id : 87827021362 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084513. 1
87827084514. 2
87827084515. 3

87827084516. 4

Question Number : 45 Question Id : 87827021363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The Nalanda University of ancient India attracted students from various parts of
Asia,

Statement (II) : The Nalanda University was overshadowed by the universities in Europe and
Arabia immediately after its establishment.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement I is correct but Statement I1 is incorrect.
4

Both Statement [ and Statement II are incorrect.

Statement [ s incorrect but Statement II is correct.
Options:

87827084517. 1

87827084518. 2

87827084519. 3

87827084520. 4

Question Number : 45 Question Id : 87827021363 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084517. 1
87827084518. 2
87827084519. 3

87827084520. 4

Sub-Section Number : 3
Sub-Section Id : 878270949
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021364 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions :

The most important part of a person’s life is his childhood. The learning our young citizens receive
at home, in school and in society between the ages of five and sixteen will shape them for the rest
of their Lives. during this phase, they need a good value based education to become enlightened
human beings.

Parents and teachers need to have an integrated mission : education with a good value system at
home and in school. Education is fundamental to building the nation of our dreams. All our
aspirations as a society are tied to the capabilities of our youngsters, who form such a large part of
our population.

A child's individuality and creativity need to be given due importance in our education. The
curriculum needs to be mnovative and the examination system overhauled so that it recognizes
and evaluates creativity and new thinking rather than the memorization of facts. Schools must
move away from being centres of education alone, instead becoming centres of knowledge and
skill development.

Sub questions

Question Number : 46 Question Id : 87827021365 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A child becomes an enlightened human being as a result of the value based education received ;
(A) At home only

(B) Inschool only

(C) At home, in school and in society
(D) Insociety only

(E)  Between the ages of five and sixteen

Choose the correct answer from the options given below :
(1) (4) &(E) Only

2 WDk ()Only
) ()& (E)Onl

4 (A& ()OHIY
Options :

87827084521. 1
87827084522. 2
87827084523. 3

87827084524. 4

Question Number : 47 Question Id : 87827021366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is essential for building the nation of our dreams ?
(1) More schools
Value based education

—
L3 D
e

(
(

Options:

) Democracy
) Rapid Urbanization

=

87827084525. 1

87827084526. 2



87827084527. 3

87827084528. 4

Question Number : 48 Question Id : 87827021367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Who need to have an integrated mission : education with a good value system at home and in
school ?

(1) Politicians

(2) Philanthropists

(3) Parents and Teachers
(4)  Businessmen
Options:
87827084529. 1
87827084530. 2
87827084531. 3

87827084532. 4

Question Number : 49 Question Id : 87827021368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A good examination system should :

(A) Recognize a child’s creativity

(B) Recognize a childs individuality

(C) Encourage rote learning

(D) Encourage new thinking

Choose the correct answer from the options given below :
(1) (A), (B) & (D) Only

(2)  (B) & (C) Only

(3) (A), (B) & (C) Only
(4) (O & (D) Only
Options:

87827084533. 1
87827084534. 2
87827084535. 3
87827084536. 4

Question Number : 50 Question Id : 87827021369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [:  Schools should only be centres of education.
Statement IT:  Youngsters form a minimal part of our population.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect,
(3) Statement s correct but Statement I1 is incorrect.
(4)  Statement s incorrect but Statement 11 is correct
Options :

87827084537. 1



87827084538. 2
87827084539. 3

87827084540. 4

Question Id : 87827021364 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827021365 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827084521. 1
87827084522. 2

87827084523. 3

87827084524. 4

Question Number : 47 Question Id : 87827021366 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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87827084525. 1



87827084526. 2
87827084527. 3

87827084528. 4

Question Number : 48 Question Id : 87827021367 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084529. 1
87827084530. 2
87827084531. 3

87827084532. 4

Question Number : 49 Question Id : 87827021368 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084533. 1
87827084534. 2
87827084535. 3
87827084536. 4

Question Number : 50 Question Id : 87827021369 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084537. 1
87827084538. 2
87827084539. 3
87827084540. 4

Comparative Study of Religions

Section Id : 878270683
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1

Sub-Section Id : 878270950



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 87827021370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the definition of Totemism as per Emile Durkheim.
(1) Simplest and most basic form of Religion

(2) Abstract form of Religion

(3) Complex form of Religion

(4) Ritualistic form of Religion

Options:

87827084541. 1

87827084542. 2

87827084543 3

87827084544. 4

Question Number : 51 Question Id : 87827021370 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827084541. 1

87827084542. 2



87827084543. 3

87827084544. 4

Question Number : 52 Question Id : 87827021371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
dentify the correct fact regarding “SHENISM”,
1) Itisa faith practiced in Africa.

1
(
2
(
(

) Itisareligion prevalent in Morocco, Spain, Algeria and adjacent countries,
3) It refers to Chinese folk religion includes traditional religious practice of Han people.
4) Itisaholy place in Mecca

Options :

87827084545. 1
87827084546. 2
87827084547. 3

87827084548. 4

Question Number : 52 Question Id : 87827021371 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084545, 1

87827084546. 2



87827084547. 3

87827084548. 4

Question Number : 53 Question Id : 87827021372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Faith on divine connection between human and natural being is known as :
(1) Cult

(2) Totemisim

(3) Ecclesia

(4) Denomination
Options :
87827084549. 1
87827084550. 2
87827084551. 3

87827084552. 4

Question Number : 53 Question Id : 87827021372 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827084551. 3
87827084552. 4

Question Number : 54 Question Id : 87827021373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A society in which there is no separation between religion and society 1 called :

(1) Neomodern

(2) Civic

(3) Postmodern

(4) Premodern
Options :

87827084553. 1
87827084554. 2
87827084555. 3

87827084556. 4

Question Number : 54 Question Id : 87827021373 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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87827084553. 1

87827084554. 2



87827084555. 3
87827084556. 4

Question Number : 55 Question Id : 87827021374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Confirming to a tradition’s doctrine is called :
(1) Othopraxy
) Orthodoxy
(3) Orthodontics
(4) Orthopaedics

—
= 3 D

Options :

87827084557. 1
87827084558. 2
87827084559. 3

87827084560. 4

Question Number : 55 Question Id : 87827021374 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084557. 1
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87827084559. 3

87827084560. 4

Question Number : 56 Question Id : 87827021375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify the time-period (decade) when “liberation theology” started as a movement within the
"Roman Catholic Church”,

) 19401950
) 1950-190
) 1960-1970
) 1970-1980

1
2
3
(4
Options :

87827084561. 1
87827084562. 2
87827084563. 3

87827084564. 4

Question Number : 56 Question Id : 87827021375 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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J
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(4) 1970-1980

Options :

87827084561. 1



87827084562. 2
87827084563. 3

87827084564. 4

Question Number : 57 Question Id : 87827021376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The first religious tradition to spread its beliefs, practices and critiques of non-believers globally
Was

(1) Buddhism
J Judaism

) Islam

) Christianity
Options :
87827084565. 1
87827084566. 2
87827084567. 3

87827084568. 4

Question Number : 57 Question Id : 87827021376 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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Options :

87827084565. 1
87827084566. 2
87827084567. 3

87827084568. 4

Question Number : 58 Question Id : 87827021377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

dentify the person who founded the Indian School of Materialism or Lokayat Darshan.
| Makkhalighoshala

| Gautam Buddha

J  Brihaspati Rishi

| Sanjayvelafthiputta

2 —

- ]

L

I
(
(
(
(4
Options:

87827084569. 1
87827084570. 2
87827084571.3

87827084572. 4

Question Number : 58 Question Id : 87827021377 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3
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(3) Tewd Hfu
(4)
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Options :

87827084569. 1
87827084570. 2
87827084571. 3
87827084572. 4

Question Number : 59 Question Id : 87827021378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The post cold war situation is understood as “Clash of Civilization” by :
(1) Deter L. Berger
(2) Mary Douglas
(3) S.P. Huntington
(4) Jacques Derrida
Options:
87827084573. 1
87827084574. 2
87827084575. 3

87827084576. 4

Question Number : 59 Question Id : 87827021378 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084573. 1
87827084574. 2
87827084575. 3
87827084576. 4

Question Number : 60 Question Id : 87827021379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Secularism is a feature of :
(1) Tribal Society

) Primitive Society

(3) Modern Society

(4) Pre-modern Society

—
= 3 I

Options:

87827084577. 1
87827084578. 2
87827084579. 3
87827084580. 4

Question Number : 60 Question Id : 87827021379 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
v fegeran frefafead st fagoa @ -
(1) SIS FHTS]
(2) A HHTS

(3) SYHF HHS
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Options :

87827084577. 1
87827084578. 2
87827084579. 3

87827084580. 4

Question Number : 61 Question Id : 87827021380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A term collective unconsciousness is first used by :

(1) Karl Marx

(2) Max Weber

(3) Emile Durkheim
(4) C.G. Jung

Options:

87827084581. 1
87827084582. 2
87827084583. 3
87827084584. 4

Question Number : 61 Question Id : 87827021380 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084581. 1
87827084582. 2
87827084583. 3

87827084584. 4

Question Number : 62 Question Id : 87827021381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A philosophical term refers for the idea that God and Nature are two ways of describing the same
this is
(1)  Monotheism

(2) Polytheism
(3) Pantheism
(4) Naturism
Options:

87827084585. 1
87827084586. 2
87827084587. 3

87827084588. 4

Question Number : 62 Question Id : 87827021381 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) TR
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(
(

)
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4) T
Options:

87827084585. 1
87827084586. 2
87827084587. 3

87827084588. 4

Question Number : 63 Question Id : 87827021382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Tulasidasa was the follower of this path.
(1) Saguna brahma
(2) Nirguna brahma
(3) Carvak philosophy
(4)

4) Doctrine of destiny

Options :

87827084589. 1
87827084590. 2
87827084591. 3
87827084592. 4

Question Number : 63 Question Id : 87827021382 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



qorHIerd 39 91 o U o |
(1) SIS
(2) fwlorsw
(3) =mEE T
(4) Trafaar
Options:
87827084589. 1
87827084590. 2
87827084591. 3
87827084592. 4

Question Number : 64 Question Id : 87827021383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
This philosophy believes in prakrti and purusa.
(1) mimamsa
(2) sankhya
(3) vaiSesika
(4) nyaya
Options :
87827084593. 1
87827084594, 2
87827084595. 3
87827084596. 4

Question Number : 64 Question Id : 87827021383 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Wi SR q%Y I AH- 9rel 78 <3 ©

(1) =i
(2) HE=A
(3) <9I
(4) 4
Options :

87827084593. 1
87827084594. 2
87827084595. 3
87827084596. 4

Question Number : 65 Question Id : 87827021384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Upanisads discuss this aspect of the Vedas.
(1) History
(2) Worship
(3) Conduct
(4) Philosophy
Options :
87827084597. 1
87827084598. 2
87827084599. 3
87827084600. 4

Question Number : 65 Question Id : 87827021384 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3ufug 9e] o 39 9gT] hl Tl hid § -
(1) zfde™

(2) oI
(3) SHER
(9 =H
Options:

87827084597. 1
87827084598. 2
87827084599. 3

87827084600. 4

Question Number : 66 Question Id : 87827021385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Jhanakanda and karmakanda are related with this :
(1) Veda
(2) epic
(3) drama
(4) mythology
Options :
87827084601. 1
87827084602. 2
87827084603. 3
87827084604. 4

Question Number : 66 Question Id : 87827021385 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FHEFUE 3T FHHRUS THY raf-ad & -

(1) =%

(2) WEERA

(3) TRH

(4) T
Options :

87827084601. 1
87827084602. 2
87827084603. 3

87827084604. 4

Question Number : 67 Question Id : 87827021386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Rishabhanatha gave these tenets at end of the kulakara system.
(1) Seventy two arts

(2) Sixty four arts

(3) Sixteen modes

(4) Six lessons
Options :

87827084605. 1
87827084606. 2
87827084607. 3
87827084608. 4

Question Number : 67 Question Id : 87827021386 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



FAR TN Thi FHIG o a1G FHETAT A 3 foremd S of
(1) &R FHan

(2) <rHS Ha
(3) HIcE FHerd
(4) g e
Options :

87827084605. 1
87827084606. 2
87827084607. 3

87827084608. 4

Question Number : 68 Question Id : 87827021387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Lord Mahavira’s father-mother were the followers of :
(I) Rsabhanatha

(2) Neminatha

(3) ParSvanatha

(4) Santinatha
Options :

878270846009. 1
87827084610. 2
87827084611. 3
87827084612. 4

Question Number : 68 Question Id : 87827021387 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IS HETe X & TIa—Hrd1 Sk STt 9

(1) SRuYATY

(2) g

(3) UTEEI™

(4) ST
Options :

878270846009. 1
87827084610. 2
87827084611. 3

87827084612. 4

Question Number : 69 Question Id : 87827021388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The earliest Jain Idols received from Lohanipur belongs the period of this dynasty.
(1) Nandavamsa

2)

3)  The Suiga period
Y

(2) Cholavamsa

(4)  The Maurya period
Options :
87827084613. 1
87827084614. 2
87827084615. 3
87827084616. 4

Question Number : 69 Question Id : 87827021388 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ARMIYE § Y YTei=aq Siqfd 39 991 o el &l © :

(1) <o

(2) A

(3) TR

(4) HIERTA
Options :

87827084613. 1
87827084614. 2
87827084615. 3

87827084616. 4

Question Number : 70 Question Id : 87827021389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Vedaniya Karma” is related to this :

(1) Ghatikarma

(2) Aghatikarma

(3) Caritra Mohaniyakarma
(4) Danantarayakarma

Options :

87827084617. 1
87827084618. 2
87827084619. 3
87827084620. 4

Question Number : 70 Question Id : 87827021389 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

e FHH H Y THY T ;

(1) =nfaeRH

(2) ST=EfaeRH

(3) =i HigHrawH

(4) SERIUIHH
Options :

87827084617. 1
87827084618. 2
87827084619. 3

87827084620. 4

Question Number : 71 Question Id : 87827021390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

[dentify the Sutta that was delivered on the subject “Right View”.
(1) Mahaparinirvapa Sutta

(2) Sonadanta Sutta

(3) Katadanta Sutta

(4) Kaccayanagotta Sutta
Options :

87827084621. 1
87827084622. 2
87827084623. 3

87827084624. 4

Question Number : 71 Question Id : 87827021390 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

34 G ! @A ey, 99 = gu o fawa w 3ufew fopan -

(2) HET A
(3) % g
(4) FHEFTIR G
Options :

87827084621. 1
87827084622. 2
87827084623. 3

87827084624. 4

Question Number : 72 Question Id : 87827021391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify the person who excavated Ancient Nalanda University during 1915-1919.
(1) Alexander Cunnigham

(2)  Dr. Spooner
(3)  Dr. Mackay
(4) R.D. Banerjee
Options :
87827084625. 1
87827084626. 2
87827084627. 3

87827084628. 4

Question Number : 72 Question Id : 87827021391 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

T AR % Vg AW e e favafarmer & 19151919 % S 3RG FH R o -

Options :

87827084625. 1
87827084626. 2
87827084627.3

87827084628. 4

Question Number : 73 Question Id : 87827021392 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the twelve point reasoning in Dependent Origination, the root cause of suffering is said to
be ignorance, [dentify the term that ignorance lead fo :

(1) Name and Form
2) Consciousness
3

)
)
) Volition formation
4)

(
(
(4) Contact
Options:
878270846209. 1
87827084630. 2
87827084631. 3

87827084632. 4

Question Number : 73 Question Id : 87827021392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TANTRTE o g QR o S ¢ 1 TR 0 S0 €1 39 W a1 Ve e o o &
FRURAL

Options :

87827084629. 1
87827084630. 2
87827084631. 3
87827084632. 4

Question Number : 74 Question Id : 87827021393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify the term in dependent origination’s twelve-point reasoning that s the immediate cause of
“Craving".

(1) Contact

(2) Grasping

(3) Feeling

(4)  Becoming
Options :
87827084633. 1
87827084634. 2
87827084635. 3

87827084636. 4



Question Number : 74 Question Id : 87827021393 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TAIHIE o Gel FEH § & SHeh! TedH L Sl GO0 1 R0l §

(1)
(2) 3URH
(3) ae
(4) v
Options:

87827084633. 1
87827084634. 2
87827084635. 3

87827084636. 4

Question Number : 75 Question Id : 87827021394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
[dentify the group of people of Jewish religion who were more conservatives in thought, adhering
to the older Hebrew non-belief in reservation.
(1) Samaritans
Zionists
3

)
) Sadducees
4

2
;
(4) Pharisees
Options:
87827084637. 1
87827084638. 2
87827084639. 3

87827084640. 4



Question Number : 75 Question Id : 87827021394 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

famfei 4 4 78t o % oAl o 30 W o Ve Ao o fore § ) o 7 A
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T
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W

(1)
2
()
()
Options :

87827084637. 1
87827084638. 2
87827084639. 3

87827084640. 4

Question Number : 76 Question Id : 87827021395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Upon the destruction of Jerusalem, the Sanhedrin moved to this place where it sessions were held
most of the time.

(1) Antioch
() Jamnia

(3) Rome

(4)  Constantinople
Options:
87827084641. 1
87827084642. 2

87827084643. 3



87827084644. 4

Question Number : 76 Question Id : 87827021395 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST & A o TR T T (8R0) % o T et e, o v e
S T G -

1) TedE
)
)
)

ad 2

-

4
Options :

87827084641. 1
87827084642. 2
87827084643. 3

87827084644. 4

Question Number : 77 Question Id : 87827021396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the birth place of Paul, a pharisee.

(1) Rome

(2) Tarsus

(3) Alexandria

(4) Armenia
Options :

87827084645. 1

87827084646. 2



87827084647. 3

87827084648. 4

Question Number : 77 Question Id : 87827021396 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ui, ST BIE 8, F STHEAT i Yg=H HifSu

(1)

(2) dRYH

(3) STeAasifgan

(4)  SCHIT
Options :

87827084645. 1
87827084646. 2
87827084647. 3

87827084648. 4

Question Number : 78 Question Id : 87827021397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

dentify the Jewish name for the great confession of faith in Deuteronomy 6 : 4 beginning “Hear, O
stael, Yahweh our God is one Yahweh”,

1) Israel
Pentateuch
3

4)  Shema

[
[
v
2
(3)  Apocalyptics
v

Options :

87827084649. 1



87827084650. 2
87827084651. 3

87827084652. 4

Question Number : 78 Question Id : 87827021397 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

O 64T TR 1 Ve TG 2 F T 1 T AN Forent oo R €, TR
TES ; Uea ST MG 39 o ¥ |

(1) T
() VR

() TR
4
Options :
87827084649. 1
87827084650. 2

87827084651. 3
87827084652. 4

Question Number : 79 Question Id : 87827021398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

This apostle of Christ believed to have come to India.
(1) St. John

2) St. Athanasius

(3) St. Mark

(4) St. Thomas

Options:



87827084653. 1
87827084654. 2
87827084655. 3

87827084656. 4

Question Number : 79 Question Id : 87827021398 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y TS Y YIRF I YR H ST JHET ST 2 -

(1) Hd S

(2) Hd eIy

(3) Hd HIH

(4) Hd AaH"
Options :

87827084653. 1
87827084654. 2
87827084655. 3

87827084656. 4

Question Number : 80 Question Id : 87827021399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The formulations of theology of Latin Christianity were completed by this personality.
(1) Clement

(2) Iranaeus
(3) Augustine of Hippo
(4) Cyrl

Options :



87827084657. 1
87827084658. 2
87827084659. 3

87827084660. 4

Question Number : 80 Question Id : 87827021399 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

341 ud & oifeq ydere &1 fmion 39 =afeq 3 fman an -
(1) FiH=
(2) sEw
(3)  sTIfEes 31fe feu
(4) fafta
Options :
87827084657. 1
87827084658. 2
87827084659. 3

87827084660. 4

Question Number : 81 Question Id : 87827021400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[dentify the writer who gave Christianity its three best definitions of God, the metaphysical, the
moral and the religions eg, “God is Spirit’, God is Light" and God is Love”.

(1) St John
(2) St Ignatius
(3) 5t Clement
(4) 5t Ambros



Options :

87827084661. 1
87827084662. 2
87827084663. 3
87827084664. 4

Question Number : 81 Question Id : 87827021400 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

0 TG 1 TR 0 Fo S o ) T ) A S R sl Sfeeh qen e & 8
o v e 8 v 8 o g

Options:

87827084661. 1
87827084662. 2
87827084663. 3

87827084664. 4

Question Number : 82 Question Id : 87827021401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the person who proposed the monarchic episcopate as the government of the church a
view that ultimately prevailed.

(1) 5t Clement
2) St Iranaeus

ES; St. Ignatius of Antioch
(4) St. Cyril of Alexandria
Options:
87827084665. 1
87827084666. 2
87827084667. 3

87827084668. 4

Question Number : 82 Question Id : 87827021401 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

0 SR 1 YA iU fore T SRe & T o WA o 9 A e i - T foum &

Options :

87827084665. 1
87827084666. 2
87827084667. 3
87827084668. 4

Question Number : 83 Question Id : 87827021402 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Abul Hasan and Abu Torab were surname of :
(1) Hazrat Abu Bakar

) Hazrat Ali
(3)

Hazrat Umar
(4) Hazrat Hasan

—
H= 3 D

Options :

87827084669. 1
87827084670. 2
87827084671.3
87827084672. 4

Question Number : 83 Question Id : 87827021402 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

3T BEA 3R 379 U UM o
(1) &Sd 37g TR

(2) BSHA Al

(3) Sd I

(4) BSA 89A

Options :

87827084669. 1
87827084670. 2
87827084671. 3

87827084672. 4

Question Number : 84 Question Id : 87827021403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The great Mosque Kardoba was constructed by the order of :
(1) Abdul Rahman I

(2) Khalid bin Walid
(3) Hazrat Ali

(4) Hazrat Usman
Options :

87827084673. 1
87827084674. 2
87827084675. 3

87827084676. 4

Question Number : 84 Question Id : 87827021403 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR AfESTE e $9h e § o8 T8 of -
(1) @Asgdd WHH 99

(2) w@ifg foT dfeg

(3) S 3Tl

(4) S SEH

Options :

87827084673. 1
87827084674. 2
87827084675. 3

87827084676. 4

Question Number : 85 Question Id : 87827021404 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Khwaja Moeenuddin belong to the Sufi silsila.

(1) Qadri

(2) Chishti

(3) Nagshabandi
(4) Soharawardi

Options :

87827084677. 1
87827084678. 2
87827084679. 3
87827084680. 4

Question Number : 85 Question Id : 87827021404 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TSI HIgd 3A-a9 ol faafaen o A7 4

(1) e
(2) Tawdt
(3) RIS
(4) HigadEl
Options :

87827084677. 1
87827084678. 2
87827084679. 3

87827084680. 4

Question Number : 86 Question Id : 87827021405 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The epithet of saifullah have been attributed to :
(1) Khalid bin Walid
) Hazrat Ali
(3) Hazrat Umar
(4) Hazrat Abu Horaiara

—
H= 3 D

Options :

87827084681. 1
87827084682. 2
87827084683. 3
87827084684. 4

Question Number : 86 Question Id : 87827021405 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TTeh] Heals i Uy & fasgfta foman = o1 -

(1) wferg fom aferg

(2) BSHA Al

(3) &SR IW

(4) T T
Options :

87827084681. 1
87827084682. 2
87827084683. 3

87827084684. 4

Question Number : 87 Question Id : 87827021406 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Anand Marriage Act was passed in the year :

(1) 1907
(2) 1909
(3) 2017
(4) 2022
Options :

87827084685. 1
87827084686. 2
87827084687. 3
87827084688. 4

Question Number : 87 Question Id : 87827021406 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

a1 faame sfufaa 39 a9 9ifia fohzn = o1 -

(1) 1907
(2) 1909
(3) 2017
(4) 2022
Options :

87827084685. 1
87827084686. 2
87827084687. 3

87827084688. 4

Question Number : 88 Question Id : 87827021407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

As per Sikh Rahat Maryada this Bani is a part of Nitnem.

(1) Patt

(2) Sidh Gosti

(3) Ram Avtar

(4) Rehras
Options :

87827084689. 1
87827084690. 2
87827084691. 3

87827084692. 4

Question Number : 88 Question Id : 87827021407 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foerg Ted Haiel o STUR 48 9H1 39 a9 1 9

(1) et

(2) Tag et

(3) TH AR

(4) &I
Options :

87827084689. 1
87827084690. 2
87827084691. 3

87827084692. 4

Question Number : 89 Question Id : 87827021408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Sohila is a name of Bani which is written by :
(1) Guru Nanak Dev ji
) Guru Ramdas ji
(3) Guru Arjan Dev ji
(4) Guru Gobind Singh ji

—
H= L I

Options :

87827084693. 1
87827084694. 2
87827084695. 3

87827084696. 4

Question Number : 89 Question Id : 87827021408 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hifgen fS9 =t o1 9™ 8, 396 Wi 2
(1) 7% 7k &d Sif

(2) 7% THSH St

(3) % 7S fHE St

(4) 7% e fEE St

Options :

87827084693. 1
87827084694. 2
87827084695. 3

87827084696. 4

Question Number : 90 Question Id : 87827021409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The oldest religion in this World is :
(1) Taoism
) Atheism
(3) Hinduism
(4) Judaism

a—
2 J

Options :

87827084697. 1
87827084698. 2
87827084699. 3

87827084700. 4

Question Number : 90 Question Id : 87827021409 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

foava =1 =Gy od ©
(1) drfEmR

(2) SHIYIER

(3) feg ud

(4) TR
Options :

87827084697. 1
87827084698. 2
87827084699. 3

87827084700. 4

Question Number : 91 Question Id : 87827021410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Identify the names of the Mesopotamian Gods.
(A) Achlys, the God of Eternal Light

(B) Aion, the God of Eternity

(C) Enlil, God of Fate

(D) Marduk, God of Creation

(E) Tiamat, Goddess of Choas

Choose the correct answer from the options given below :
(1) (A), (B)and (D) Only

(2) (C), (D) and (E) Onl

(3) (B), (C)and (D) Onl

(4) (A), (D) and (E) Oﬂlv

Options :

87827084701. 1

87827084702. 2

87827084703. 3

87827084704. 4

Question Number : 91 Question Id : 87827021410 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



THIIHA & <aqisti o 9T i 989 hifold |

(A) TEEAY - YIREd YR S gadl
(B) TIA - YRE Rl el
(C) wfaa -  9FF & <

(D) HRgH - S R <

(B) foama -  o7ouewen i <@t

= fou e fasredl § | W@ 3T T HIfST
(1) e (A), (B) 3R (D)

(2) ad (C), (D) 3K (E)
(3) )

(

(4) Fd (A), (D) ¥R (E)
Options:

87827084701. 1

87827084702. 2

87827084703. 3

87827084704. 4

Question Number : 92 Question Id : 87827021411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify amongst the following the terms those are included in Ninian Smart's Seven-point dimension
of religion.

(4) Doctrinal

(B) Intellectual

(C) Material

(D) Worship centre or place
(E) Experiential

Choose the correct answer from the options given below :
(1) (A), (B) and (D) Only

2 ©) !
(3) (4)(C)and (E) Oy
(4) (A), (B) and (C) Only
Options :

87827084705. 1
87827084706. 2
87827084707. 3

87827084708. 4

Question Number : 92 Question Id : 87827021411 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frerfetfaa @ 9 ffvem = o v devl o e s | e e i v
A) Hgifds

Options:

87827084705. 1
87827084706. 2
87827084707. 3

87827084708. 4

Question Number : 93 Question Id : 87827021412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify amongst the following terms those are associated with theoretical perspectives on Religion.
(A) Functionalism

(B)  Symbolic interaction

(C) Conflict theory

(D) Feminism

(E) Rational choice

Choose the correct answer from the options given below :

(1) (4) () and (O Ony

2 (A) (Dyan ()Onlv
(3) (), (C)and (D) Onl

(4 (C) (Dyand (E) Onl
Options:

87827084709. 1
87827084710. 2
87827084711.3

87827084712. 4

Question Number : 93 Question Id : 87827021412 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feferfigd o 4 37 e 21 Te=Ifg S 4 o Hgifaeh vftied 9 et € -

Options:

87827084709. 1
87827084710. 2
87827084711.3
87827084712. 4

Question Number : 94 Question Id : 87827021413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the concepts which are used by Sigmund Freud in his psychological approach.
(A) Selflessness

B 1
(C) Profane
(D) Ego

(E) Superego

Choose the correct answer from the options given below :
1) () (3)and (D) Only

(1

) (B) (C)and (D )ODJY
(3) (A), (C) and (D) Onl
(4) (B), (D)and (E) Onl
Options:

87827084713. 1
87827084714. 2
87827084715. 3

87827084716. 4

Question Number : 94 Question Id : 87827021413 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T SNSRI ForeRT e e e A o e gt o b € |

Hﬁﬁwmﬁﬁﬁﬂﬁmwﬂﬁm
1) (A), (B) 4% (D)

2) () (C)

3) (A)

4) (B),

Options :
87827084713. 1
87827084714. 2
87827084715. 3

87827084716. 4

Question Number : 95 Question Id : 87827021414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the main factors of Civil Religion.

(A) Belief in totem

(B) Belief in Prophet or founders

(C) Belief in Animism

(D) Belief in specific code of conduct

(E) Belief in scripture

Choose the correct answer from the options given below :
(1) (A) (B) and (D) Only

(2)  (B), (D) and (E) Only

(3) (B), (C) and (D) Only

(4)  (B), (C) and (E) Only
Options:

87827084717. 1
87827084718. 2
87827084719. 3
87827084720. 4

Question Number : 95 Question Id : 87827021414 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



v gy i g fagrvmissi &1 vg=m sifa |
(A) 21" (wdies fag) o favam

(B) TR = Gxmgehi § favary

(C) SrerHarE § favar™

(D) fafere st=R Hfgd § fagarg

(E) uHui § favamy

e fou e fosked § | W& ST 1 =TI FifSC;
(1) = (A), (B) &R (D)

(2) %9 (B), (D) IR (E)
(3) ae (B), (C) ¥R (
(4) ad (B), (C) ¥R (E)
Options :
87827084717. 1
87827084718. 2

87827084719. 3

87827084720. 4

Question Number : 96 Question Id : 87827021415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Among the following identify existentialist thinkers.
Max Mullar

A)

B) Friedrich Nietzsche
C) Immanuel Kant
D)

Soren Kierkegaard
E) Martin Buber
Choose the correct answer from the options given below :

e T e O e e o, 4
[T

(1) (A), (C) and (D) Only
() (B), (C) and (D) Only
(3) (B), (D) and (E) Only
(4) (O, (D) and (E) Only
Options:

87827084721.1
87827084722. 2
87827084723. 3
87827084724. 4

Question Number : 96 Question Id : 87827021415 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Trfafea 5 9 sifaaac fads &t g9 Fife |

(A) HFFR

(B) el il
(C) FHINA Hie
(D) HRA fershe
(B) T e

= feu o fasredi § 9 W& 39T 1 T FifSU;

(1) ad (A), (C) 3R (D)
(2) ad (B), (C) R (D)
(3) @ (B), (D) iR (E)
(4) e (C), (D) 3R (E)
Options :

87827084721.1
87827084722. 2
87827084723. 3

87827084724. 4

Question Number : 97 Question Id : 87827021416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the followmg statements and choose those are NOT correct ones.
A) Upanisads are not the part the Vedas.

B) Vedic religion is monotheist.

(
(
(C) The Bhagavadgita deals with the Karmayoga.
(D) The sankhya doctrine believes in God.

(E) The caste system was made on the basis of karma.

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

Options:

87827084725. 1
87827084726. 2
87827084727.3

87827084728. 4

Question Number : 97 Question Id : 87827021416 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa Fwemi &1 9 3R 319 Fem 71 |
(A) UG 97 A 37 TRl €|

(B) dfgeh & ThvawamRs €|

(C) FTaRHial H HHAN &l == & |

(D) WiEATd $9a ol HAA ¢ |

(E) dUicHaedl &H o AR T oA T8 o |
= feu T fosredl § 9 WE 39 A 99 i

(1) ad (A), () ¥R (E)
(2) &Fd (A), (B) ¥R (D)
(3) @ (B), (D) iR (E)
(4) e (C), (D) 3R (E)
Options :

87827084725. 1
87827084726. 2
87827084727.3

87827084728. 4

Question Number : 98 Question Id : 87827021417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Read the following statements and choose the correct ones.
A) Vedas are the original scriptures of Hindu religion.

B) The seers have visualised the Vedic Hymns.

D) Puranas do not deal with the Indian Culture

(

(

(C) Puranas are ten in number

(

(E) Human life is divided into four stages as per Hindu religion

Choose the correct answer from the options given below :
(1) (A),(C) and (D) Only
B), (C) and (E) Only

Options:

87827084729. 1
87827084730. 2
87827084731.3
87827084732. 4

Question Number : 98 Question Id : 87827021417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaad wuai i 7 iR &t w1 97|

(A) 9T feg v & Hifers 7o €|

(B) SRf%El 7 a8 Bl o g9 fohdl 1

(C) Ul ! & 10 B

(D) TR &g Hepfal ot e Tl bt |

(B) e o ¥ ura Sitad &1 =R engdi 1 favad fean T 2 |

Fy faw T e § | WE T T Fi
(1) %3 (A), (O) ¥R (D)
(2) %94 (B), (C) 3T (E)
(3) %ad (C), (D) ¥R (E)
(4) e (A), (B) ¥R (E)

Options:

87827084729. 1
87827084730. 2
87827084731.3
87827084732. 4

Question Number : 99 Question Id : 87827021418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the types of Matijnana are :
(A) Avagraha
(B) Vyanjanavagrah
(C) Tha
(D) Anugami
(E) Avaya
Choose the correct answer from the options given below :
(1) (A), (©) and (E) Only
(2)  (B), (D) and (E) ODI}’
(3) (), (D) and (E) Onl
(4)  (B), (C) and (D) Onl
Options:
87827084733. 1
87827084734. 2
87827084735. 3

87827084736. 4

Question Number : 99 Question Id : 87827021418 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



== feu U faseqi ©§ 9 Wér ST I 9T Fifg;

(1) ad (A), () ¥R (E)
(2) 9 (B), (D) iR (E)
(3) @ (C), (D) ¥R (E)
(4) < (B), (C) 3R (D)
Options :

87827084733. 1
87827084734. 2
87827084735. 3
87827084736. 4

Question Number : 100 Question Id : 87827021419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



These are the Jain centers of Education.

(A) Anandaji-Kalyanaji Pedhi, Ranakpur

(B) L.D. Institute of Indology, Ahmedabad

(C) Ahimsa Sthal, Delhi

(D) Jain Vishva Bharati Institute, Ladnun

(E) National Institute for Prakrit Studies and Research, Shravanabelagola
Choose the correct answer from the options given below :

(1) (B), (C) and (E) Only
(2) (B) () and (E) Onl

(3) (A) () and (D) OIﬂY
(4) (C), (D) and (E) Onl
Options:

87827084737. 1
87827084738. 2
87827084739. 3

87827084740. 4

Question Number : 100 Question Id : 87827021419 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(1) @ (B), (C) 3R (E)
(2) 9 (B), (D) iR (E)
(3) A (A), (O) &R (D)
(4) e (C), (D) 3R (E)
Options :

87827084737. 1
87827084738. 2
87827084739. 3

87827084740. 4

Question Number : 101 Question Id : 87827021420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



These are included in Aghﬁti Karma.
A) Gotra Karma

(
(B) Antaraya Karma
(C) Nama Karma
(D) Vedaniya Karma
(E) Mohaniya Karma
Choose the correct answer from the options given below :
(1) (B), (C) and (E) Ol‘ﬂ}’
Clr (D) and (E)
) Onl

Options:

87827084741. 1
87827084742. 2
87827084743.3

87827084744. 4

Question Number : 101 Question Id : 87827021420 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) TS H

(B) =™ FH

(C) ¥ %H

(D) deAE A

(E) Hrig+a =H

2 fau Tu faredi ¥ W& IO 1 T FAFAT
(1) W(B):(C)W(E)
(2) #aa (C), (D) 3R (E)
(3) A (A), (B) 3R ()
(4) FFd (A), (C) 3R (D)
Options :

87827084741.1
87827084742. 2
87827084743. 3

87827084744. 4

Question Number : 102 Question Id : 87827021421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Agtamhasthina or eight great places refers to the eight places associated with the life of the Buddha.
[dentify the amongst the following those are not included the list of Asta mahasthina.
(A) Sinkissa

(B) Nalanda

(C) Patliputra
(D) Lumbini

(E) Vikramshila

Choose the correct answer from the options given below :
(1) () (B)and (C) Orly

(2) (), (C) and (E) Only
5) (A) (D) and (E)Onl
(4 (B), (C) and (D) Only
Options :

87827084745. 1
87827084746. 2
87827084747. 3

87827084748. 4

Question Number : 102 Question Id : 87827021421 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



NG T A8 TR A Fed § 9 95 % 1o § Gl §1 3 W A N Al
R § Ao 7 €
(4) Fw

Options:

87827084745. 1
87827084746. 2
87827084747.3

87827084748. 4

Question Number : 103 Question Id : 87827021422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the technical terms in those are part of “Bojhanga” or the factors of enlightenment.
A) Energy

I

(

(B) Devotion
(C) Tranquility
(D) Volition

(E) Equanimity

Choose the correct answer from the options given below :

(1) (&), (B) and (C) Only
2) (), (D)and (E) OHJY
() (B), (C) and (E) Onl
(4 (A) (C)and (E) ODJY
Options:

87827084749. 1
87827084750. 2
87827084751. 3

87827084752. 4

Question Number : 103 Question Id : 87827021422 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3 ThHI%h] U] ol U hiTeIU I ST & 9 ¢
(A) iR
(B) e
(G
(D) HER
(E) 3Y=ra
== fou e faeedi § 9 Wet SUY 1 9949 Hif9T

(1) ad (A), (B) 3R (C)
(2) a9 (C), (D) ¥R (E)
(3) @ (B), (C) 3R (E)
(4) I (A), (C) ¥R (E)
Options :

87827084749. 1
87827084750. 2
87827084751. 3
87827084752. 4

Question Number : 104 Question Id : 87827021423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the statements included in decalogue.
Worship no God but me

A)

B) Give Zakat
C) Observe the Sabbath and keep it holy
D) Observe fast

E) Respect your father and mother

e T e O e e o, 4
[T

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2)  (A) () and (E) 01‘11}’
(3)  (B), (C) and (D) Onl

(4) (O, (D) and (E) Onl
Options:

87827084753. 1
87827084754. 2
87827084755. 3

87827084756. 4

Question Number : 104 Question Id : 87827021423 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SIRIS (SHTeArT) H INHA FHUl i 9= hIFT :
(A) W Afaftam frdt oiR S9er it U =&t wET
(B)  SiehId <IfST |

(C) fagm (=) =ifsre qen ufes W |

(D) YA HIfST |

(E) 79 Hia-Toar =1 2713 shifsiu |

== feu e fosredi § 9 W@ ST 1 994 HifS

(1) ad (A), (B) 3R (C)
(2) HFd (A), (C) ¥R (E)
(3) @ (B), (C) 3R (D)
(4) %Fd (C), (D) ¥R (E)
Options :

87827084753. 1
87827084754. 2
87827084755. 3

87827084756. 4

Question Number : 105 Question Id : 87827021424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the great Prophets of Judaism.

(A) St. Paul

(B) St. Isiah

(C) St. John

(D) St. Jeremiah
(E) St. Ezekiel

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only
(2) (B), (D) and (E) Onl
(3) (O, (D)and (E) Onl
(4) (B), (C) and (D) Onl
Options:

87827084757. 1
87827084758. 2
87827084759. 3

87827084760. 4

Question Number : 105 Question Id : 87827021424 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ o HeH el i YgH hifT :

(A) Hd 9
(B) Hd 3HMEIH
(C) Hd S
(D) Hd SHIE
(B) §d ifehue

== feu TTu fosredi § 9§ WE 39 1 994 i

(1) ad (A), (B) 3R (C)
(2) 9 (B), (D) iR (E)
(3) @ (C), (D) ¥R (E)
(4) < (B), (C) 3R (D)
Options :

87827084757. 1
87827084758. 2
87827084759. 3

87827084760. 4

Question Number : 106 Question Id : 87827021425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The sacred scriptures of Judaism consist of these :
A) Torah

(
(B) Zionism

(C) Nabiim

(D) Epistles

(E) Ketubin

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (A) (C) and (E) OfﬂY

(3)  (B), (C) and (D) Onl

(4) (©), (D) and (E) Onl

Options:

87827084761. 1

87827084762. 2

87827084763. 3

87827084764. 4

Question Number : 106 Question Id : 87827021425 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) T

(B) fTSisdisH
(C) eizH
(D) ufreew
(E) <hgfe

== feu U fasedi § 9 Wér SO &1 994 hif9u

(1) ad (A), (B) 3R (C)
(2) HFd (A), (C) ¥R (E)
(3) @ (B), (C) 3R (D)
(4) %Fd (C), (D) ¥R (E)
Options :

87827084761. 1
87827084762. 2
87827084763. 3

87827084764. 4

Question Number : 107 Question Id : 87827021426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the three main divisions of Christianity.
A) Kabbala

(
(B) Zionists

(C) Eastern Orthodox Churches

(D) Roman Catholic

(E) Protestants

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (C), (D) and (E) Only
(4) ( )

Options:

87827084765. 1
87827084766. 2
87827084767.3

87827084768. 4

Question Number : 107 Question Id : 87827021426 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



i v & i qg@ faumi i veem wife
(A) heslrel

= feu v fosredl § 9 Wl 39X 1 99 Shifau ;

(1) ad (A), (B) 3R (C)
(2) Fd (B), (C) 3R (D)
(3) @ (C), (D) ¥R (E)
(4) I (A), (C) ¥R (E)
Options :

87827084765. 1
87827084766. 2
87827084767. 3

87827084768. 4

Question Number : 108 Question Id : 87827021427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



These statements are related to the book “Confessions”.
A) It was included in the Bible

B) It was written by St. Augustine

(
(
(C) Itis the greatest religions autobiogmphy ever written
(D) It was authored in India

(

E) The personal piety of the author is reflected in this work
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (E) Only
(3)  (©), (D) and (E) Only
(4)  (A) (D) and (E) Only
Options:
87827084769. 1
87827084770. 2
87827084771. 3

87827084772. 4

Question Number : 108 Question Id : 87827021427 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafad Fum 99 ‘Frea’ 9 Hefud €

(A) I8 aEfad H g

(B) W Tq sTerEA A foan ®

(C) 9% 376 de 1 Halfersh " HifHeR A1cH 1§
(

(

D) SH! TEAT 9Rd | il T
E) 3979 ¥ oias o1 AfgaTa Jfe foar <ot 2
== feu U fasedi § 9 Wér SO &1 994 hif9u

(1) ad (A), (B) 3R (C)
(2) ad (B), (C) 3R (E)
(3) @ (C), (D) ¥R (E)
(4) < (A), (D) 3R (E)
Options :

87827084769. 1
87827084770. 2
87827084771.3
87827084772. 4

Question Number : 109 Question Id : 87827021428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Statements are related to this personality of St. Anselm.
) He belonged to the apostles of Jesus.

(A

(B) He is the first and greatest of the Schoolmen

(C) He is an Indians Christian

(D) He gave to the church its first worthy doctrine of Atonement
(E) He belonged to eleventh century A.D.

Choose the correct answer from the options given below :

(1) (A), (B) and (C )OIﬂY
(2) (B), (D) and (E) Onl

(3) (), (D) and (E) Onl

(4) (A) (D) and (E) OHIY
Options:

87827084773. 1
87827084774. 2
87827084775. 3

87827084776. 4

Question Number : 109 Question Id : 87827021428 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e H & 3 o w7 Siem g ¥ -
(A) % S8 TG & eI () H T 4

(B) % ARG N fervaferiers & sieaen § ¥ Teel SR WeH FRH S 4 |
(C) % T Y 39 4

(D) %M = ! U 1 Y9 A gl e |

(E) % Taeell 91 o 4|

T fow T foehedl H B TR I A T I

(1) % (A), (B)afﬂ(o

(2) ad (B), (D) ¥R (E)
3) % (C), (D) 4 (B
(4) 6 (A), (D) 3R (B
Options :

87827084773. 1
87827084774. 2
87827084775. 3

87827084776. 4

Question Number : 110 Question Id : 87827021429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct statement.

(A) Abdul Qadir Jilani was Indian Sufi
(B) Imam Muslim was Muhaddith
(C) Ibn Battuta was a Musician
(D) Zakat is the one pillar of Islam
(E) Muwatta is the compilation of Hadith
Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only
() (B), (D)and (E) Only
(3) (B), (C) and (A) Only
(4) (E), (B) and (A) Only
Options:

87827084777. 1
87827084778. 2
87827084779. 3

87827084780. 4

Question Number : 110 Question Id : 87827021429 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el HeF T8TH -
(A) 3egdl hifex St YR gt 2 |

1= feu T foremedl H 9 e SUY 1 =AT RIS

(1) ad (A), (B) ¥R (E)
(2) 9 (B), (D) iR (E)
(3) EE (B), (C) 3R (A)
(4) 9 (E), (B) 3R (A)
Options :

87827084777.1
87827084778. 2
87827084779. 3

87827084780. 4

Question Number : 111 Question Id : 87827021430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Hazrat Ali was a :
Cousin of Prophet Muhammad

Husband of the Hazrat Fatima
First reciter of Adhan
E) Ruler of the Spain

Choose the correct answer from the options given below :

A)
B) Son-in-law of Prophet Muhammad
C
D)

e T e O e e o, 4
[T

(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (A), (D) and (B) Only
(4) (D), (C) and (A) Only
Options:

87827084781. 1
87827084782. 2
87827084783. 3

87827084784. 4

Question Number : 111 Question Id : 87827021430 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



= feu v fosredl § 9 Wl 39X 1 99 Shifau ;

(1) ad (A), (B) 3R (C)
(2) Fd (B), (C) 3R (D)
(3) Fad (A), (D) 3R (B)
(4) FFE (D), (C) 3R (A)
Options :

87827084781. 1
87827084782. 2
87827084783. 3
87827084784. 4

Question Number : 112 Question Id : 87827021431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



They are excluded in the Caliphets of Rashidin.

(A) Abdul Hamid

(B) Abu Bakar

(C) Usman

(D) Umar

(E) Sufiyan

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2) (B), (C) and (D) Only
(3) (B), (D) and (C) Only
(4)  (A), (B) and (E) Only
Options:

87827084785. 1
87827084786. 2
87827084787. 3

87827084788. 4

Question Number : 112 Question Id : 87827021431 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



111

== feu U fasedi § 9 Wér SO &1 994 hif9u

(1) ad (A), (B) 3R (C)
(2) Fd (B), (C) 3R (D)
(3) E (E), (D) 3R (C)
(4) FFA (A), (B) ¥R (E)
Options :

87827084785. 1
87827084786. 2
87827084787. 3
87827084788. 4

Question Number : 113 Question Id : 87827021432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Shri Guru Granth Sahib is :
A) Biography

B) Guru

C) Sacred text

D) Gurbani

E) Bani of Guru Gobind Singh

Choose the correct answer from the options given below :

e T e O e e o, 4
[T

(1) (A) (B) and (D )Onh’
(2) (B), (D) and (E) Onl

(3) (O, (D)and (E) Onl

(4) (B), (C) and (D) Onl
Options:

87827084789. 1
87827084790. 2
87827084791. 3

87827084792. 4

Question Number : 113 Question Id : 87827021432 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



C) Yfos e

:"_\EH—\.

E) T Tifeg f4g =t ol
== feu U fasedi § 9 Wér SO &1 994 hif9u

(1) ad (A), (B) X (D)
(2) 9 (B), (D) iR (E)
(3) @ (C), (D) ¥R (E)
(4) < (B), (C) 3R (D)
Options :

87827084789. 1
87827084790. 2
87827084791. 3

87827084792. 4

Question Number : 114 Question Id : 87827021433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the texts of Shri Guru Granth Sahib.
(A) Japu Sahib
(B) Pat

(C) Sidh Gosti
(D) Sukhmani Sahib

(E) Zafarnama

Choose the correct answer from the options given below :
(1) (A), (B) and (E) Only

(2) (B), (C) and (D) Only

(3 (C), (D) and (E) Only

(4) (B, (C) and (E) Only

Options :

87827084793. 1

87827084794. 2

87827084795. 3

87827084796. 4

Question Number : 114 Question Id : 87827021433 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o 1o v T ¥ S B T H

(A) Y Hfe

(B) Tt

(C) Tog et

(D) gl Hifea

(E) SIHTATH

Sy faw o faredl H F W@ U H =TI FIC ;
(1) ad (A), (B) iR (E)
(2) Fd (B), (C) 3R (D)
(3) @ (C), (D) ¥R (E)
(4) &aFd (B), (C) R (E)
Options :

87827084793. 1
87827084794. 2
87827084795. 3

87827084796. 4

Question Number : 115 Question Id : 87827021434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Anandpur is a historical city of Punjab. Identify events which are linked with Anandpur Sahib
) Anandpur was founded by Guru Tegh Bahadur ji

(A

(B) Anandpur is known as the birth place of Guru Gobind Singh

(C) Anandpur is a birth place of Khalsa

(D) Anand bani is related with Anandpur Sahib

(E)  One of the five takhats (Shri Keshgarh Sahib) is situated at Anandpur Sahib
Choose the correct answer from the options given below :

(1) (4), (8)and (C) Only
(2 (B) (C)and (D )0“13’
(3) (A)(C) and (£) Onl

(4 (A),(C) and (D) OHIY

Options:

87827084797. 1
87827084798. 2
87827084799. 3

87827084800. 4

Question Number : 115 Question Id : 87827021434 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



SR fed ol o O e W €1 3 el ) e b o e e A W €
(A) T o7 9L S G A A T

(B) S, G o 7 0 €|

(C)  STFICH, T 1 7 W €|

(D) & a1 ey Wifeal § Hale 21

(E) T e & 8 W (4t e i) ey Wiea & e ¢

A1 fou T o H ¥ W S o T

(1) = () B) R (C

Q) & B), ()4 D)

() () C) o (B
() = (4),(C) 3 D)
Options :

87827084797. 1
87827084798. 2
87827084799. 3
87827084800. 4

Question Number : 116 Question Id : 87827021435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - 1 List - II
Text Writer
(A) SaddarSana Samuccaya (I)  Vadideva suri
(B) Pramana Naya Tattvavaloka (I) YaSovijaya
(C) Pramapa Mimarhsa (I) Haribhadra suri
(D) Tarkabhasa (IV) Hemacandracirya

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(1), (O-(1V), (D)-(I)
(2) (A, B}-(IV), (O-(), (D)-0)
(3)  (A)-(I), (B)-(IV), (C)-(T), (D)-(I)
(4)  (A)-IV), (B)-(I), (O-(II), (D)-(IIT)
Options :

87827084801. 1
87827084802. 2
87827084803. 3

87827084804. 4

Question Number : 116 Question Id : 87827021435 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gell-1 9 Geii-11 &1 fHeTH whifse;

(A) TEERTHT=A () e
(B) YHIVFA deTecileh () FefasH
(C)  THTI HIHTH (1) BN
(D) dHTHT (IV) BH==MEH

== fou U fasedl ° 9 Wal SWL 61 999 it ;

(1) (A)-1), (B)-(I), (O)-(1V), (D)-(II)
(2)  (A)-(1), (B)-(1V), (O)-(1), (D)-()
(3)  (A)-(I), (B)-(IV), (C)-(D), (D)-(I)
(4)  (A)-(V), (B)-(1), (O-(1D), (D)-(11)
Options:

87827084801. 1
87827084802. 2
87827084803. 3

87827084804. 4

Question Number : 117 Question Id : 87827021436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL.
List - I List - II
Author Book
(A) Rudolf Otto ()  Theology of Culture
(B) Gerardus van der Leeuw  (II) The Idea of Holy
(C)  William James (
(D) Paul Tillich (IV) Religion in Essence and Manifestation

[I) The Varieties of Religions Experience

Choose the correct answer from the options given below :
(1) (AHIV), (B]I), (CHI), (D)0

) (AR, B}-LV), €[, DI
) (AR, B}LV), €)W, DA
) (AHD), (B, (O, (DM

Options :

’_._‘_’_._‘_

(
3
(4

)
)
)

87827084805. 1
87827084806. 2
87827084807. 3

87827084808. 4

Question Number : 117 Question Id : 87827021436 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 9 Geit-II 1 e ifsu;
Tel-I Telt-11

e T
(A) T I () Topiesil S e
(B) R &7 & folg ) fe smfem oA gref
(C) faferm e () fe avedt atfte Yeiorg TRt
(D) e fofe= (IV) Yeitor 37 T U Ay
= fou Tu fosedi § 9 W I 1 T i
(1) (A)-1V), (B)-(1D), (C)-(II), (D)-()
(2)  (A)HI), B)-IV), (C)(1), (D))
(3) (A)H(I), B)-IV), (C)-(II), (D)-O)
(4)  (A)HI), (B)-(I), (-1, (D}(IV)
Options:

87827084805. 1
87827084806. 2
87827084807. 3

87827084808. 4

Question Number : 118 Question Id : 87827021437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - II
(A) Solomon Reinach (I}  Religion is ethics heightened enkindled lit up by feeling
(B) Mathew Amold () Soulis immortal

(C) Buddhism () Religion is a body of scruples which impede the free exercise of
our faculties
(D) Spinoza (V) Soul is nothing but a body-mind complex

Choose the correct answer from the options given below :
(1) (AR, (B-1V), (CrD), (DM
) (KD, (BH{L), (CHIL), (DHLV)
) (AHIV), (B, (CHLL, (D)
) (M), (B10) (CHIV), (DHT)

Options :

2
5
4

87827084809. 1
87827084810. 2
87827084811. 3

87827084812. 4

Question Number : 118 Question Id : 87827021437 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TollL § oIl i e
Tl I
(4) W () TR g S e T e g
2 1 O e e
© W () e R T 3 R ey ) A T S g
D) for (V) 40 4% 33 761 i - 1 Tam |

-

(==
i 2

e few T foredl 4 1 8 0 1 0
(1) (A, B-V), (CH0, (D)

(2) (A}{D). (BMT), (CHI, (DY)

(3) (ARV), (B-{LL), (C){L), (D)

(4) (AR, (B, (CHIV), (DI
Options:

87827084809. 1
87827084810. 2
87827084811. 3

87827084812. 4

Question Number : 119 Question Id : 87827021438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
Doctrine Scholar
(A) Bhagavat dharma ()  Ramanuja
(B) Nirguna brahma (I) Sankaracarya
(C) Advaita (IIT) Kabiradasa
(D) Visistadvaita (IV) Vispu

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(I), (©)-1), (D)-(1)

(2)  (A)-(1), (B)-ID), (O-1V), (D)-I)

(3)  (A)-1), B)-(1V), (C)-(U), (D)-O)

(4)  (A)-(1), (B)1D), (©)-(1), (D)-IV)

Options :

87827084813. 1

87827084814. 2

87827084815. 3

87827084816. 4

Question Number : 119 Question Id : 87827021438 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teit-1 § Geil-11 &1 faeam sifs;

(A) SPTEd & (n s
(B) fjursran () iR
(C) 3Tgd (II) e
(D) fafererga (Iv) fao

== fou 70 faseyl ° 9 Hat SO 1 994 Hif9g :

(1) (A)-(IV), (B)-(IL), (O)-W), (D)-(I)
(2)  (A)-(D), (B)-(I11), (O)-(1V), (D)-(1I)
(3)  (A)-(D), (B)-(IV), (CO)-(1LL), (D)-()
(4)  (A)-(D), (B)-(1D), (©)-(1), (D)-(IV)
Options:

87827084813. 1
87827084814. 2
87827084815. 3

87827084816. 4

Question Number : 120 Question Id : 87827021439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List -1 List - II

Acarya Name Writers Period
(A) Acarya Dharasena () Twelfth century C.E.
(B) Acarya Sivarya (I) Eight Century C.E.
(C) Acarya Haribhadra () First Century C.E.
(D) Acarya Hemacandra (IV) Third Century C.E.

Choose the correct answer from the options given below :
(1) (A1), (B)-AL). (©)-1V), (D)-O)

(2)  (A)1V), (B)-(L1), (C)-(1), (D)-(11)
(3) (A, (B)-(I), (O-(IV), (D)-(IT)
(4) (A, (B)-(V), (O)-11), (D)-(1)
Options :

87827084817. 1
87827084818. 2
87827084819. 3

87827084820. 4

Question Number : 120 Question Id : 87827021439 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teit-1 § Geil-11 &1 faeam sifs;
-1 11

3= AT TFTehRTe
(A) TEHE A () SRedt grrest
(B) st ferar () 3Tl orrsal
(C) == Bfivg (IIT) 9H 9]
(D) =T THEE (IV) el orree]

= feu 7o fasredi § | W& 39T F1 999 FifAU

(1) (A)-(D), (B)-(), [©)-1V), (D)-({)
(2)  (A)-1V), (B)-(11D), (O)-(1), (D)-(1)
(3)  (A)-(I), (B)-(I), (O)-(IV), (D)-(I)
(4)  (A)-(D), (B)-(1V), (O)-1), (D)-(I)
Options:

87827084817. 1
87827084818. 2
87827084819. 3

87827084820. 4

Question Number : 121 Question Id : 87827021440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(A) Vajracchedika prajiaparamita sutra ~ (I)  Heap of Jewel sutra
(B) Prjhaparamita sutra () Diamond sutra
(C) Ratnakita sutra (III) Heart sutra
(D) Prajnaparamitahridaya sutra (IV) Wisdom sutra

Choose the correct answer from the options given below :

(1) (A, B}IV), (O-(), (D)

(2) (A, BHI), (O, (DHIV)
(3) (A, (B)-(1), (O-(I), D}HIV)
(4)  (AHI), B)-IV), (€D, (D)-(I)

Options:

87827084821. 1
87827084822. 2
87827084823.3

87827084824. 4

Question Number : 121 Question Id : 87827021440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 9 geit-11 1 e sifs;

(A) esTesieeRT YRR (I) 29 3 Soel g
(B)  GRTIRIHAT & () SFHe Y

(C) T T () & - ¥

(D) YR g (IV) fasied - 43

= fou 7T fashedl § 9 War 3T 1 I97 hIfIT

(1) (A)-), (B)-(1V), (O)-(), (D)-(D)
(2)  (A)-(D), (B)}-(), (O)(IID), (D)-(IV)
(3)  (A)-(D), (B)-(), (O)-(1), (D)-(1V)
(4) (A1), (B)-(IV), (C)-(I), (D)~(I)
Options:

87827084821. 1

87827084822. 2

87827084823. 3

87827084824. 4

Question Number : 122 Question Id : 87827021441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List -1 List - II

(A) Psalms ()  Theodor Herzl

(B) German translation of Pentateuch () Moses

(C) Jewish state (II) David

(D) Pentateuch (IV) Moses Mendelssohn

Choose the correct answer from the options given below :

(1) (A1), B)-(L), (-, (D}IV)
(2) (A}, B)-{I), (C)-(IV), (D)-(1)
(3) (AL, (BHIV), (O-(1), (DHI)
(4)  (AHIV), (B, (O-(), (D)-0)
Options:

87827084825. 1
87827084826. 2
87827084827. 3

87827084828. 4

Question Number : 122 Question Id : 87827021441 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teil-1 9 Geil-11 &1 foerm i

(A) HEHY () forre gste
(B) Uefegs &1 STHA AR (I) =99

(C) <&t Siferg w2 () s

(D) Yefegs (IV) =il Headsd
= fou U fosmedi | 9 Wl I 1 999 SIS

(1) (A)-D), (B)-I), (O, (D)-(IV)

(2) (A)-(1D), (B)-(1D), (O)-(1V), (D)-I)

(3) (A1), (B)-(IV), (O)-(), (D)-(I)

(4)  (A)-(IV), (B)-(I1D), (O)-(I), (D)-[)

Options:

87827084825. 1
87827084826. 2
87827084827. 3

87827084828. 4

Question Number : 123 Question Id : 87827021442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - II
(A) Mount Horeb (I)  Crucifixion
(B) Mount Calvary (II) Decalogue
(C) Mount Tabor (IlI) Samaritan temple
(D) Mount Garisim (IV) Transfiguration

Choose the correct answer from the options given below :
(1) (A1), B)-1), (O-1V), (D)-(IL)

(2)  (AHD), (B)-(ID), (O)-(1I), (D)-(1V)

(3) (A1), ()(HI) (O-(1V), (D)-0)

(4) (A1), (B)-(1V), (O)-(), (D)-(1T)

Options:

87827084829. 1

87827084830. 2

87827084831. 3

87827084832. 4

Question Number : 123 Question Id : 87827021442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teit-1 § Geil-11 &1 faeam sifs;
qeit-1 qEli-11

(A) W= TS (I) Yol 98 AR
(B) W= Theraldl () Shal

(C) W= @R (I11) FEfeT [f<t
(D) W= TffEH (IV) ®UILIRL

== feu U foshedi § 9 Wel ST &1 997 ity

(1) (A)-1), (B)-0), (O)-(1V), (D)~(III)
(2)  (A)-(D), (B)-(1), (O)-(1LD), (D)-(1V)
(3)  (A)-1D), (B)-(11), (©O)-(IV), (D)-(I)
(4)  (A)-(I), (B)-(IV), (O)-(0), (D)-(II)
Options:

87827084829. 1
87827084830. 2
87827084831. 3

87827084832. 4

Question Number : 124 Question Id : 87827021443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - 1 List - 11

(A) Surah Maryam (I)  Para number 27
(B) Surah Al- Qadr (II) Para number 22
(C) Surah Saba (II) Para number 30
(D) Surah Al-Rahman (IV) Para number 16

Choose the correct answer from the options given below :

(1) (A)-0), (B)-(I), (C)-(1I), (D)-(IV)
(2)  (A)-1V), (B)(I0), (O)-1D), (D)-()
(3)  (A)-(I), (B)-(IV), (C)-(IIL), (D)-(I)
(4)  (A)-(), B)-(I), (O, (D)-(IV)

Options:

87827084833. 1
87827084834. 2
87827084835. 3

87827084836. 4

Question Number : 124 Question Id : 87827021443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Teit-1 § Geil-11 &1 faeam sifs;

-1 -11

(A) 9 HiEH () ORI 7R 27
(B) YU 3TA-hg () ORI %I 22
(C) U g« (IIT) ORI 7L 30
(D) U AA-TEHH (IV) ORI %R 16

(1) (A)-(), (B)-(I), (O)-(1), (D)-(IV)
(2)  (A)-IV), (B)-(1L]), (O)-(1L), (D)-(1)
(3)  (A)-(D), (B)-(IV), (O)-(1IL), (D)-(IL)
(4)  (A)-(D), (B)-(IT), (O)-(III), (D)-(IV)
Options:

87827084833. 1
87827084834. 2
87827084835. 3

87827084836. 4

Question Number : 125 Question Id : 87827021444 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct match of author and book.

List - I

Author
(A) Jagjit Singh I)
(B) Mcleod, W.H. (I)
(C) Banerjee A.C. (III)
(D) Harbans Singh (IV)

List - II

Book

Guru Nanak and the Sikh Religion
The Sikh Revolution

Guru Nanak and His Times
Heritage of Sikhs

Choose the correct answer from the options given below :

)
1V
)

(1) (A, B)-), ©)-(), D}IV)
(2) (A, B)-(0), (O)-(I), D}V
(3) (A, (B)(IT), ©)-(0), (D

(4) (A1), (B)-(UD), (O-(LT), DIV
Options :

87827084837. 1
87827084838. 2
87827084839. 3

87827084840. 4

Question Number : 125 Question Id : 87827021444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Gelt-1 9 eit-11 A1 e aifer;
Geit-I Geft-1I

ickd Tw
(A) TSt g () % 7 U8 g foerg {ifersH
(B) HlaE, Ty, TH () = foe fafegem
(C) &sfl, T Ht () TeAHe UE fosl 2
(D) &eH g (V) e s foea
A feu T foshedi H ¥ Wt T h1 =9 R :
(1) (A, B)-{D), ©)-(), (D}-(IV)
(2)  (A)-(I), B)-I), (C)-(I), (D)-(IV)
(3) (AN, (B)}-(ID, (©)-(1), (D)-(IV)
(4) (A0, (B}-(I), (C)-(10), (D)}-(IV)
Options :

87827084837. 1
87827084838. 2
87827084839. 3

87827084840. 4

Question Number : 126 Question Id : 87827021445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



On the basis of ] G. Frazer's theory of the evolution of religion, find out a correct sequence among
the following :

) Belief in Gods
B) Belief in Kingwood

D) Belief in One God

(A

(

(C) Belief in Magic-man
[

(E) Belief in science

Choose the correct answer from the options given below :

(1) (4 8) (©), (&)

(
(2 (B) (&) € O
3 (©), (), (4), (O, (&
(4) (D), (), (C) (4),
Options :

87827084841. 1
87827084842. 2
87827084843. 3

87827084844. 4

Question Number : 126 Question Id : 87827021445 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



S, ST S o 9 o foehr o Fgid o sFeR Ffofad o § w8l %W 900 ;
A) TR H SR

Options:

87827084841. 1
87827084842. 2
87827084843.3

87827084844. 4

Question Number : 127 Question Id : 87827021446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the chronological order in the development of the Sikh Panth.
(A) Foundation of Amritsar

(B) Manji System

(C) Miri-Piri

(D) Compilation of Shri Guru Granth Sahib

(E) Creation of Khalsa

Choose the correct answer from the options given below :

(1) (&), (B), (D), ), (E)

(2) (B) (4) (D), ©) E)
(3) (A4) (©), (D) (B), E)
(4) (D) (&), €) (B), E)
Options:

87827084845. 1
87827084846. 2
87827084847. 3
87827084848. 4

Question Number : 127 Question Id : 87827021446 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fowg do & far™ & 981 9 & Te9H & ;
(A)  STHIE ohl Tl

(B) HSII 9en

(C) HRI-dr

(D) 4t 7% U Hifgel k1 Gehor
(E) &rerdn ki faio

(D) (A), (B), (D), (©), (E)
(2)  (B), (A). (D), (©), (E)
(3) (A) (©), (D), (B), (E)
(4) (D) (A), ©), (B), (E)
Options:

87827084845. 1
87827084846. 2
87827084847. 3
87827084848. 4

Question Number : 128 Question Id : 87827021447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



On the basis of “The Varieties of Religions Experience” arrange the following concepts in lower to
higher order,

(A) Transiency
(B) Ineffability
(C) Noetic
(D) Passivity
(E) Quality

Choose the correct answer from the options given below :
(1) (4), (8) (0 ©) ()

(2) (B) (C) () (A) (D
(3 (8) (), (4), () (&
(4 (8) (C), (D) () (4
Options :

87827084849. 1
87827084850. 2
87827084851. 3

87827084852. 4

Question Number : 128 Question Id : 87827021447 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe SETes A (el TR o R Feiafed § A G S 6 F9 Y SR ;
(A) TE

(B) s

(C) dfeF

(D) e

(E)  Terel

el feu T ol H H W I 1 T B
(1) (A), (B) (D), (©), ()
(2) (8), () (E), (A), (D)
() () (©), (A) D), (E)
(4) (8) (C), (D) () (A)
Options:
87827084849. 1
87827084850. 2
87827084851. 3

87827084852. 4

Question Number : 129 Question Id : 87827021448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following from earlier to later in chronological order.
(A) Brahmasamaja
(B) Aranyaka
(C) Bhaktiyuga
(D) Mimamsa
(E) Vedanta
Choose the correct answer from the options given below :

(1) (B) (E), (D), (©), (4)
(2) (4), (B), Q) (D), (E)
(3)  (B). (©), (D), (), (A)
(4) (©), (D), (E), (A), (B)
Options:

87827084853. 1

87827084854. 2

87827084855. 3

87827084856. 4

Question Number : 129 Question Id : 87827021448 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ffafEad sl g8 § 99 & hIashHTHR SAafed o |

(A) dH=THHS
(B) 3HARTHch
(C) wfe
(D) wmE
(E) e

= fou U faweui ° 9 Het 39 1 994 Hifd ;

(D) (B), (E), (D), (©), (A)
(2)  (A), (B), (©O), (D), (E)
(3)  (B), (©), (D), (E), (A)
(4) (O, (D), (B), (A), (B)
Options:

87827084853. 1
87827084854. 2
87827084855. 3

87827084856. 4

Question Number : 130 Question Id : 87827021449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following Jain centres situated in Bharat from South to North.
(A) The place of recitation (vacana) of second Jain Canons

(B) The place of salvation of twenty teerthankaras

(C) The place of Salvation of Neminath

(D) Construction site of Bahubali Statue by Chamundaraya

(E) The place of origin of Jain svetamber terapanth

Choose the correct answer from the options given below :

(1) (B) ©), (4) D), E)
(2) () (©) (E) (B), (A)
(3) (B) (O (B), (A) (D)
4) (D) (4), ©) (), B)
Options:

87827084857. 1
87827084858. 2
87827084859. 3

87827084860. 4

Question Number : 130 Question Id : 87827021449 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



feiferd 51 oheg 1 feerfd ol Sféur © ST YA o %A o STHI SATT B :
(A) S 3T i fadi o S

(B) T el il Hhereret

(C) ATHT o1 i Wil ered

(D) HUETE gRI digac i qfd i i T

() MG I 1 3ed T

T fou T fahedi § 9 Wl I H TH HIfC ;

() () (Q), (A) (D), (E)
(2) (D), (©) (E) (B), (A)
(3)  (E) (), (B) (4), (D)
(4) (D) (A), €), £), (B)
Options:

87827084857. 1
87827084858. 2
87827084859. 3

87827084860. 4

Question Number : 131 Question Id : 87827021450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following events in the chronological order of their happening of later to earier.

(A) Pyrtho, a philosopher in Alexander the Great's court learns elements of Buddhist philosophy
in India from gymnosophists. He incorporated the three marks of existence into his new
philosophy of pyrrhonism which he introduces into Hellenistic philosophy.

(B)  General Pushyamitra Shunga overthrows Maurya Empire and establishes shunga empire.

(C) The Indo-Greek governor Theodorus enshrines relics of the Buddha, dedicating them to the
defined, “Lord Shakyamuni”.

(D) The Kushanas, under Kanishka establish a Kingdom centred on Kashga, also taking control
of Khotan and Yarkand in the Tarim Basin.

(E) Buddhabhadra reaches China to preach Buddhism.
Choose the correct answer from the options given below :

(1) (4). ®) (C) D) ()

(2 () (4) (), C) &
3) (&) (4) (8), (D), (€)
(4 (&), (&) (€) (8) (D)
Options:

87827084861. 1
87827084862. 2
87827084863. 3
87827084864. 4

Question Number : 131 Question Id : 87827021450 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fretfrfd =2l e 57§ ol W W Wl 7 % eI Sl #

() TRH, 1 foet R o SRR 1 O e o, 7 T H ) | A 2 o e @
T | S50 o T 9 U e Y A T 5 A A o - o ¢ o
et el U afelieed < H Teel o Jecrdl o |

(B) et e i 4 S g 8 St e A Y S 4 e 3 9 o g 6 e
1 3 g YA o o el 9 0 T S o o

(C) 38T v e A 9 % e a Wften foen ol 3%, v s ety
w7 i

(D) O ST 5 ST TR % I 5, S f &R 0 4 o 78 ¥ vt it
ek 1 T A g o e

(E) 5% o o o 36T & % et 4 gl

T feu T foedl o 9 0 S A

(1) (&) () (C D)

(2) () (&), (D). (©) E

(3)(E) (A). (B) (B (C

(4 (A). (), (© (B), (D

Options:

)
)
)

87827084861. 1
87827084862. 2
87827084863. 3
87827084864. 4

Question Number : 132 Question Id : 87827021451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct sequence in the development of the Bible Events (earlier to later)
) Genesis

(A

(B) Abraham’s Sacrifice

(C) Atk of Noah

(D) Babylonian Exile

(E) Exodus

Choose the correct answer from the options given below :

1) (4)®) ) D) F)

( (

(2 (B), (C), (D) (E) (4)
() (C), (D), (E), (4), (B)
&) (A) (©), B) &) D)
Options:

87827084865. 1
87827084866. 2
87827084867. 3

87827084868. 4

Question Number : 132 Question Id : 87827021451 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dgecl i HSAT3 o fash™ | gd ¥ I % Y il Fdis |
(A) SHfEE

(B) ASITEH I SfcteH

(C) I3 1 31k (8 ki A1d)

(D) dfaaif=ar § yam™

(E) e (faem)

= feu U fared | | Wat UL Rl I hIfS

(1) (A), (B), (©), (D), (E)
(2)  (B), (O, (D), (B), (A)
(3)  (©), (D) (E), (A), (B)
(4) (A), (©), (B), (E), (D)
Options:

87827084865. 1
87827084866. 2
87827084867. 3
87827084868. 4

Question Number : 133 Question Id : 87827021452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the chronological order of Biblical prophets (earlier to later).
(A) Ezekiel
(B) Jeremiah
(C) Zephania
(

(

D) Amos
E) Eljih
Choose the correct answer from the options given below :
(1) (4) @), (©) D) €
(2) (B), Q). D) (E). (A)
(3) (E) (D), ©), B), (A)
(4) (©. (D) (E) (A), B)
Options:

87827084869. 1
87827084870. 2
87827084871. 3
87827084872. 4

Question Number : 133 Question Id : 87827021452 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



rEferet 1 WIFa] o HTershH (Yo U STRAGI H) I T8AH HiTolT :

(A) FeIfeRTe

(B) Sifwa®

(C) SN

(D) T

(E) sfefse

T feu U faswedi § ¥ WE W 1 T HIf
(1) (A), (B) (O, (D), E)
(2) (B), (©), (D), (E), (A)
(3) (E) (D), ©), (B), (A)
(4) (O, (D), (E), (A), (B)
Options :

87827084869. 1
87827084870. 2
87827084871. 3

87827084872. 4

Question Number : 134 Question Id : 87827021453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the correct sequence according by birth of the following famous Imam.
(A) Ahmad bin Hambal

(B) Abu Hanifa

(C) Shafayee

(D) Malik bin Anas

Choose the correct answer from the options given below :
(D) (@A) D) © @)

2 (D) ®)(©), (@A)
(3) () (D) (©) &)
(@) (©, 6 D) @A)
Options:
87827084873. 1
87827084874. 2
87827084875. 3

87827084876. 4

Question Number : 134 Question Id : 87827021453 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yfgg 3l =t Sfafy & 98 F1 § FdEu|
(A) 2mE fo B
(B) 319 BAIHI

(C) T

(D) Hifes fo 3179

== feu Tu fashedi § 9 W& S 1 994 Hifaa
(1)  (A) (D), (©), (B)



Options :

87827084873. 1
87827084874. 2
87827084875. 3
87827084876. 4

Question Number : 135 Question Id : 87827021454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Find out a correct sequence in the development of Sikh literature.
A) Gurshobha

(
(B) Janam sakhis

(C) Guru Nanak Chamtkar

(D) Bani of Bhagat Kabir

(E) Sehje Racho Khalsa

Choose the correct answer from the options given below :

(1) (4).(©Q), (B) D), E)
(2) (C), (B), (A), (D), (E)
(3) (E) (D), B), (A), (O
(4) (D), (B), (A), (©) (E)
Options:

87827084877. 1
87827084878. 2
87827084879. 3

87827084880. 4

Question Number : 135 Question Id : 87827021454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



H%B[W?fl:
Toera e & fa™ o |l 49 =l 91 :
(A) T

C) 7% AFH-THHR

(
(D) & FHeX I dH]
(

(1) (&), (©), (B), (D), (E)
(2) (O, (B), (A), (D), (E)
3)  (E), (D), (B), (A4), (©)
(4) (D) (B), (A), (©), (E)
Options:

87827084877. 1
87827084878. 2
87827084879. 3

87827084880. 4

Question Number : 136 Question Id : 87827021455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I:  Secularization refers to the historical social process where religion loses ifs
significance.

Statement IT :  Role of religion as an institution is declining in modern society.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
(3) Statement 1 s correct but Statement II is incorrect
e

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct

Options:

87827084881. 1
87827084882. 2
87827084883. 3
87827084884. 4

Question Number : 136 Question Id : 87827021455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu g
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(1) TR o 11 S T &

() TR HR 1S o T
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Options :



87827084881. 1
87827084882. 2
87827084883. 3

87827084884. 4

Question Number : 137 Question Id : 87827021456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Religion is the base of the World.
Statement Il Bhirata is religion dominant nation,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct
2
3
(4

J  Both Statement I and Statement II are incorrect
) Statement I is correct but Statement II s incorrect
)

Statement I 1s incorrect but Statement II is correct

Options :

87827084885. 1
87827084886. 2
87827084887. 3

87827084888. 4

Question Number : 137 Question Id : 87827021456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



HO (1) : o fova o g B
O (I1) : T Teh ¥HYHA <91 € |
SR FF F A °, A fou U faskedi § & WE I WA FifC ;

(1) oM 1 3R HeA 11 3 T 3

(2) O 3R R I1 S 378 ¥
(3) UM TA T, AfHT T 11 310 ¢
(4) HUTI HFEA &, Wlfehd HIA 1L FA &
Options :

87827084885. 1
87827084886. 2
87827084887. 3

87827084888. 4

Question Number : 138 Question Id : 87827021457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Given below are two statements ;

Statement I:  Engaged Buddhists typically focus their energy on the practice of meditation.

Statement II ; Shifting on focus from wandering to settled communal existence actnally
strengthened support for Sangha.

In the light of the above statements, choose the most appropriate answer from the options given
below :

1) Both Statement I and Statement II are correct
2

(
(
3
4

) Both Statement I and Statement II are incorrect
) Statement [ 15 correct but Statement II is incorrect
)

Statement I is incorrect but Statement II is correct

Options :



87827084889. 1
87827084890. 2
87827084891. 3

87827084892. 4

Question Number : 138 Question Id : 87827021457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084889. 1

87827084890. 2

87827084891. 3

87827084892. 4

Question Number : 139 Question Id : 87827021458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Moses saw the bush was burning,
Reason (R) :  Burning bush is a symbol of presence/immortality of the Almighty.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A} s correct but (R) is not correct
)

4) - (A) 15 not correct but (R) is correct

Options:

87827084893. 1
87827084894. 2
87827084895. 3
87827084896. 4

Question Number : 139 Question Id : 87827021458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A1 2 e fo 0 2 o aifeRer (A) 3 w9 ¥ feff € o g S e (R) % w0 A B
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Options :



87827084893. 1
87827084894. 2
87827084895. 3

87827084896. 4

Question Number : 140 Question Id : 87827021459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Sikhism is not in favour of Casteism.
Reason (R) :  The Sikhs have some Gurudwaras on the name of caste.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3)  (A) s correct but (R) is not correct

)

(4)  (A) s not correct but (R) is correct
Options :

87827084897. 1
87827084898. 2
87827084899. 3

87827084900. 4

Question Number : 140 Question Id : 87827021459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084897. 1
87827084898. 2

87827084899. 3
87827084900. 4

Sub-Section Number : 2
Sub-Section Id : 878270951
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827021460 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the passage carefully and answer the questions given at the end of it.

Religionisa multi-faceted phenomenon including cognition, behaviour, experience and more. Itis
also very diverse; there are many different forms of religion; depending on evolutionary context, culture.
personality and so on, In view of this it is misleading to make claims about anything as broad and
general “religion”, without specifying what kind of religion i5 under the spotlight. There is a danger of
erroneous extrapolation from one kind of religion to religion in general. Another danger is of studying
stch mixed and diverse forms of religion that there i little prospect of discovering anything that they all
haveincommon though there is much thatis commendable in these Hilbert papers, their most conspicuous
weakness is the tendency to over-generalize about religion.

How can we define religion and culture ina way that is useful to the study of World Politics ? Itis
important to sketch each term separately before bringing them back together to form a composite picture.
We begin with religion, a category that scholars and policy makers once considered irrelevant to the
study of international relations because it was not believed to be important for the economic and security
interests of modern states and their citizens, Yet, many scholars now hold that religion cannot be ignored,
While the idea of culture has equally been underplayed in IR, its inclusion in analyses of World Affairs
predates that of religion and is considered less controversial. We shall consider four elements of each
category and then make important linkage between them so that religion and culture make sense as
whole, rather than fragmented ideas.

Sub questions

Question Number : 141 Question Id : 87827021461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Religion is a multi-faceted phenomenon because :

(1) It has many kinds of worship centres

(2) World politics do not includes religion and culture in its study
(3) We do not have a composite picture of it

(4) It includes cognition, behaviour, experience and more in it

Options :

87827084901. 1
87827084902. 2
87827084903. 3

87827084904. 4



Question Number : 142 Question Id : 87827021462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The claim of term “religion” as broad and general is misleading and the reason is

(1) Such claim will be erroneous as different forms of religion have common attributes.
[t is not supported in Hilbert papers

2
(3) Religions may have single form in general
(4) It may lead to erroneous extrapolation
Options :

87827084905. 1

87827084906. 2

87827084907. 3

87827084908. 4

Question Number : 143 Question Id : 87827021463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Religion is:
(1) Dogmatic phenomenon

(2) Various varities
(3) Single faceted phenomenon
(4) Excluded cognition

Options :

87827084909. 1
87827084910. 2
87827084911. 3
87827084912. 4



Question Number : 144 Question Id : 87827021464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n International Relations, the study of religion cannot be ignored because :
(1) Religion and culture make sense as a whole rather than fragmented ideas.
2

) Theideaof culture has been underplayed ininternational relation and it must not be overlooked
because it has equal role with religion in IR,

(3) Religion and culture are not a part of IR and therefore they should keep separated from it
(4)  Religion has been considered very much relevant in IR so far.

Options :

87827084913. 1

87827084914. 2

87827084915. 3

87827084916. 4

Question Number : 145 Question Id : 87827021465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[dentify the purpose of defining religion.

(1) It may be useful for the study of World Politics

) There should be great prospects of discovering things they have in common
3) To have the erroneous extrapolations

) There should not be a single composite picture of religion

Options :

87827084917. 1
87827084918. 2
87827084919. 3

87827084920. 4



Question Id : 87827021460 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827021461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827084901. 1
87827084902. 2
87827084903. 3

87827084904. 4

Question Number : 142 Question Id : 87827021462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084905. 1
87827084906. 2
87827084907. 3

87827084908. 4

Question Number : 143 Question Id : 87827021463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
vH T
(1) wamrEl usl
(2) 3k fored
(3) WHHEN 9%
(4) afesrd 9™
Options :
87827084909. 1
87827084910. 2

87827084911. 3

87827084912. 4

Question Number : 144 Question Id : 87827021464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084913. 1

87827084914, 2

87827084915. 3

87827084916. 4

Question Number : 145 Question Id : 87827021465 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084917. 1
87827084918. 2
87827084919. 3

87827084920. 4

Sub-Section Number : 3
Sub-Section Id : 878270952
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827021466 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Read the passage carefully and answer to the questions given at the end of it

Everyone in quest of truth, knows that Hindu Religion does not admit particular doctrine related
to God, Soul, Creation and the Goal of human ife. It does not accept to perform any particular rite,
observe external conduct follow method of penance. It does not either recognize particular Paigambara
or divine messenger as the instrument of valid cognition. Hindu Religion gives full freedom of human
intelligence and heart with regard to such questions. Even non-admittance of God as creator and
controller of the World; the denial of the soul eternal and conscious element and non-acceptance the
salvation as the state of eternal pleasure for soul, are not taken as unpardonable crime in the Hindu
Religion. It did not hesitate in recognizing even those who did not accept the existence of God and soul
as incarnation or seer, but they were great spiritual personalities. Hindu Religion did never intend to
strive for undue prevention of human thought, volition and will power on the contrary, Hindu Religion
has always proclaimed openly that man is free from all bondages by nature. And obtaining absolute
freedom by means of independent human objective is the highest ideal of his Life. Itis the very notion of
Hindu Religion that even though, man has the right of freedom by birth, the internal-external and
mental circumstances in the world lessen his freedom unfortunately. Hence, it should be the goal of
every man that he should utilize his freedom, he has to liberate himself from all kinds of bondages and
obstacles, conducive to absolute freedom. That is the reason that Hindu Religion cannot put any kind of
controlling barrier on the straight development of human soul. Rather, it always strives for the wisdom
of every man, woman and children, fo get rid of darkness, so that they can make proper use o their due
freedom in order to obtain the ideal freedom,

Sub questions

Question Number : 146 Question Id : 87827021467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Hindu Religion does not put any control over this :
(1) War

(2) Mental Development
(3) Society

(4) Soul Development
Options :

87827084921. 1

87827084922. 2

87827084923. 3



87827084924. 4

Question Number : 147 Question Id : 87827021468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Human Freedom is reduced due to this :
(1) Circumstances

) God

(3) Religions sites

(4) Human Society

—
= 3 D

Options :

87827084925. 1
87827084926. 2
87827084927. 3

87827084928. 4

Question Number : 148 Question Id : 87827021469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hindu Religion recognizes even him as seer/incarnation.
(I) Materialist

(2) Etheist

(3) Idealist
(4) Economist
Options:
87827084929. 1
87827084930. 2
87827084931. 3

87827084932. 4



Question Number : 149 Question Id : 87827021470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Non-admittance of this is not a crime in Hindu Religion.
(1) Mansion builder

(2) World benevolent

(3) World creator

(4) Economic reformer
Options :

87827084933. 1
87827084934. 2
87827084935. 3
87827084936. 4

Question Number : 150 Question Id : 87827021471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Hindu Religion gives full freedom to this :
(1) Wealth and Power

) Human Intelligence and Heart

(3) Knowledge and Education

(4) Exercise and Health

—
= 2 I

Options :

87827084937. 1
87827084938. 2
87827084939. 3
87827084940. 4



Question Id : 87827021466 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827021467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827084921. 1
87827084922. 2
87827084923. 3

87827084924. 4

Question Number : 147 Question Id : 87827021468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

39 R g T&d-=dl S0 8 Sl |
(1) uRfeafa

(2)
(3) it HH-HIS
(4) HHEd GHS
Options :

87827084925. 1
87827084926. 2
87827084927. 3

87827084928. 4

Question Number : 148 Question Id : 87827021469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

a5 uH 29e! At W/ sTEarl JHal ¢ |
(1)  sifqepare
(2) SeaRaTE!
(3) STEIfarEl
(4) FAderet
Options :

87827084929. 1
87827084930. 2
87827084931. 3

87827084932. 4

Question Number : 149 Question Id : 87827021470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feg o H e Rl T |1 39U TR 2 |
(1) & fmm

(2) fava Syl

(3) SPTqERAl

(4) feer guweh

Options :

87827084933. 1
87827084934. 2
87827084935. 3

87827084936. 4

Question Number : 150 Question Id : 87827021471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

famg &1 Z7eh! U1 Tc=Ia 2T & |
(1) o7 3R fUHR

(2) wFEE Ffg T 78T T IR foan
(3) M 3R fnam

(4) =AM 3R @re

Options :

87827084937. 1

87827084938. 2

87827084939. 3

87827084940. 4



